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Question Number : 1 Question Id : 190889892 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

_ : . 3 : . b G E ;
6.74 g of a substance occupies 1.2 em'. Its density by keeping the significant figures in view will

be
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Options:

1908893501. 1
1908893502. 2
1908893503. 3

1908893504. 4

Question Number : 1 Question Id : 190889892 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

1908893501. 1
1908893502. 2
1908893503. 3
1908893504. 4

Question Number : 2 Question Id : 190889893 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The dimensional formula for torque 1s
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i, [ML T ]
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Options :

1908893505. 1
1908893506. 2
1908893507. 3
1908893508. 4

Question Number : 2 Question Id : 190889893 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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1. [ML’TY]
2. [MLT7]
3. [MLT
4. [ML’T]
Options :

1908893505. 1
1908893506. 2
1908893507. 3

1908893508. 4

Question Number : 3 Question Id : 190889894 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A projectile 1s thrown with certam velocity v and at an angle 8 with the horizontal direction.
Then we can say that, during its entire journey,

Its kinetic energy 1s constant

Its horizontal veloeity is constant
Its vertical velocity 1s coonstant
Its potential energy 1s constant
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Options :

19088935009. 1
1908893510. 2
1908893511. 3

1908893512. 4

Question Number : 3 Question Id : 190889894 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

19088935009. 1
1908893510. 2
1908893511. 3

1908893512. 4

Question Number : 4 Question Id : 190889895 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two vectors A and B are acting at an angle & such that,

A x B" - A B
The angle between them i1s then

Zero
30°
45°
60°
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Options:

1908893513. 1
1908893514. 2
1908893515. 3
1908893516. 4

Question Number : 4 Question Id : 190889895 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
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Options :

1908893513. 1
1908893514. 2
1908893515. 3
1908893516. 4

Question Number : 5 Question Id : 190889896 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The figure shows the position-time graph for a body. One can say that the body is

X(m) A
30—
20—
10
T [
0 1 2 3 & 5
1. Stationary
2. Moving with constant accelaration
3. Moving with constant veloeity
4. Moving with variable accelaration
Options:

1908893517. 1
1908893518. 2
1908893519. 3
1908893520. 4

Question Number : 5 Question Id : 190889896 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908893517. 1
1908893518. 2
1908893519. 3

1908893520. 4

Question Number : 6 Question Id : 190889897 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A block of mass 10 kg 1s suspended through two different light spring balances as shown i the
figure. Neglecting mass of the spring balances. we can say.

V¥

10 KG

. Both scales will read 5 kg

The upper scale will read 10 kg and the lower zero

The readings may be different but their sum will be 10 kg
. Both the scales will read 10 kg

!‘w-._."l—l
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Options :

1908893521. 1
1908893522. 2
1908893523. 3

1908893524. 4

Question Number : 6 Question Id : 190889897 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908893521. 1
1908893522. 2
1908893523. 3
1908893524. 4

Question Number : 7 Question Id : 190889898 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A stone 15 released from an elevator going up with an acceleration a. The acceleration of the
stone after the release 15

a upward

(g-a) upward
(g-a) downward
g downward

|

Options :

1908893525. 1
1908893526. 2
1908893527. 3
1908893528. 4

Question Number : 7 Question Id : 190889898 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T 2 ¥ FHR ST T AT UloRET (3RUT9F) § FIS TR T 11 €| O 9 $
T AT FT T A

. FeEmE

(g-0) FET

(g-a) HETHE
4. g HUTATT

[

L)

Options :

1908893525. 1
1908893526. 2
1908893527. 3
1908893528. 4

Question Number : 8 Question Id : 190889899 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Aforce F = 4i + 3j - 2k actsona particle of mass m with position vector 7 j - The torque about the
origin acted on the particle 1s,

L 14j+ 28k
~(14j + 28k)
Zero

14k

b b

Options :

1908893529. 1
1908893530. 2
1908893531. 3

1908893532. 4

Question Number : 8 Question Id : 190889899 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908893529. 1
1908893530. 2
1908893531. 3

1908893532. 4

Question Number : 9 Question Id : 190889900 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A constant force F given by
F=2i+4j+6kN

acts on a body to move it along x-axis. The work done by the force to move by 2m along x-axis

will be

1. Zero
2. 4]
3. 83
4, 12]

Options :

1908893533. 1
1908893534. 2
1908893535. 3

1908893536. 4

Question Number : 9 Question Id : 190889900 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

frmg s r &

F=2+4]+6kNg o 2 R R 7rn 31 7 R Ris w0 o e g
U x- 8T W ATHA FIa 1 o $8 T H x- 38 W 2 m Ho & AT Fet
I ZINT HUIfed 1 2T

)
4]

8]
127

h D e

Options :

1908893533. 1
1908893534. 2
1908893535. 3

1908893536. 4



Question Number : 10 Question Id : 190889901 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The correct variation of acceleration due to gravity g as a function of r, the distance from the
centre of the earth 1s given by. (R=radius of the earth)
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Options :

1908893537. 1
1908893538. 2
1908893539. 3
1908893540. 4



Question Number : 10 Question Id : 190889901 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

1908893537. 1
1908893538. 2

1908893539. 3



1908893540. 4

Question Number : 11 Question Id : 190889902 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The work done i lifting a body of mass m from the surface of the earth to a height h equal to
radius of the earth 1s

2mgR
mg R

mg R/2
mg R/4
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Options :

1908893541. 1
1908893542. 2
1908893543. 3
1908893544. 4

Question Number : 11 Question Id : 190889902 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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1. 2mgR
2. mgR

3. mgR/2
4. mgR/A4

Options :

1908893541. 1
1908893542. 2
1908893543. 3

1908893544. 4



Question Number : 12 Question Id : 190889903 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

' ' 3 o
A wheel rotates with a constant angular acceleration of 2 rad/s™. If the wheel starts from rest.
how many revolutions will it make in the first 10s?

107
100z
50
100
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Options:

1908893545. 1
1908893546. 2
1908893547.3
1908893548. 4

Question Number : 12 Question Id : 190889903 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

1908893545. 1
1908893546. 2
1908893547. 3
1908893548. 4

Question Number : 13 Question Id : 190889904 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The moment of nertia of a ring about a tangent to the circle of the ring 15, (M=mass, R=radis of
the ring)

1. (
2. (If
3.
4. (

Options :

1908893549. 1
1908893550. 2
1908893551. 3

1908893552. 4

Question Number : 13 Question Id : 190889904 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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1. (1/8) MR’
2. (1/4) MR®
3. (1/2) MR?
4. (32) MR
Options :
1908893549. 1
1908893550. 2
1908893551. 3

1908893552. 4

Question Number : 14 Question Id : 190889905 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

A planet is moving around an elliptical orbit about the Sun. If the speed and distance of the
planet from the Sun at the perihelion Vy and 1 and the corresponding quantities at aphelion be V,
and 1,, We can say;
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Options :

1908893553. 1
1908893554. 2
1908893555. 3
1908893556. 4

Question Number : 14 Question Id : 190889905 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
1908893553. 1
1908893554. 2

1908893555. 3



1908893556. 4

Question Number : 15 Question Id : 190889906 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A body falling vertically downwards under gravity breaks in two parts of unequal masses. The
centre of mass of the two parts taken together will shift horizontally towards.

Heavier piece

Lighter piece

Does not shift horizontally

Depends on vertical velocity at the time of breaking

o

Ca

Options :

1908893557. 1
1908893558. 2
1908893559. 3

1908893560. 4

Question Number : 15 Question Id : 190889906 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
1908893557. 1

1908893558. 2



1908893559. 3
1908893560. 4

Question Number : 16 Question Id : 190889907 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two small kids weighing 10 kg and 15 kg are trying to balance a seesaw of total length 5m with
the fulerum at the centre. If one of the kids s sitting at one end, where should the other sit?

1.7m
0.8 m
25m
0.6 m

2 =

oh s

Options :

1908893561. 1
1908893562. 2
1908893563. 3

1908893564. 4

Question Number : 16 Question Id : 190889907 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T F T A S R AR SHFME IR A A= F T 5m

9 ol FT Ffold T F Tqeod T ¢ &1 TG T=+1 6 F SR W4 & A
TEY = I FgI 45 AT

1. 1.7m
2. 08m
3. 2.5m
4, 0.6m

Options:
1908893561. 1

1908893562. 2



1908893563. 3
1908893564. 4

Question Number : 17 Question Id : 190889908 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Equal mass of three liquids are kept in three 1dentical cylindrical vessels A, B and C. The
densities are pa. P, pPc with pa< pp < pc the force exerted by the liquids on the base of the
cylinders will be

1. Maximum in vessel A
2. Maximum i vessel B
3. Maximum in vessel C
4. Equal in all vessels

Options :

1908893565. 1
1908893566. 2
1908893567. 3
1908893568. 4

Question Number : 17 Question Id : 190889908 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908893565. 1



1908893566. 2
1908893567. 3

1908893568. 4

Question Number : 18 Question Id : 190889909 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Bermoulli's theorem 1s based on conservation of.

Momentum

Mass

Energy

Angular mumentum

b

oW

Options :

19088935609. 1
1908893570. 2
1908893571. 3

1908893572. 4

Question Number : 18 Question Id : 190889909 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Fafell 98T fFeaifva # ¥ fFos gTeyor 97 amaig §

1. HaT
A

3. F=AT

4. FOTT I

| ]

Options:

1908893569. 1
1908893570. 2
1908893571.3



1908893572. 4

Question Number : 19 Question Id : 190889910 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The de Broglie wavelength associated with an electron accelerated through a potential difference
of 81 volt 15

0.0136 nm
0.136 nm
1.363 nm
13.633 nm

bl s

el

Options :

1908893573. 1
1908893574. 2
1908893575. 3

1908893576. 4

Question Number : 19 Question Id : 190889910 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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0.0136 nm
(.136 nm
1.363 nm
13.633nm
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Options :

1908893573. 1
1908893574. 2
1908893575. 3

1908893576. 4



Question Number : 20 Question Id : 190889911 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
What is the length of a simple pendulum, which ticks seconds? (g=10 m/s’ and 7°=10)

0.25m
1.0m
2.0m
40m

fem L D

Options :

1908893577. 1
1908893578. 2
1908893579. 3

1908893580. 4

Question Number : 20 Question Id : 190889911 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
3T GIUNOT Aids FT FF=E Faar § S UFE H Iaoar £ 0

(=10 m/s* AT 7’=10)

0.25m
1.0m
20m
4.0m

b

W

Options :

1908893577. 1
1908893578. 2
1908893579. 3

1908893580. 4

Question Number : 21 Question Id : 190889912 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Two wires made of same material but have radii m ratio 2:1. Both the wires are stretched by
same force. The ratio of the stress produced by them will be

B
2, 441
3 14
4. 12
Options :
1908893581. 1
1908893582. 2
1908893583. 3

1908893584. 4

Question Number : 21 Question Id : 190889912 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

1908893581. 1
1908893582. 2
1908893583. 3

1908893584. 4

Question Number : 22 Question Id : 190889913 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Temperature of a refrigerator 1s to be kept at a temperature of 7°C. If the room temperature 15
27°C. then what will be coefficient of performance of the refrigeratr?

14
1/14
15
1/15

|

[ N N ]

Options :

1908893585. 1
1908893586. 2
1908893587. 3

1908893588. 4

Question Number : 22 Question Id : 190889913 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T IBFET 1 a9FR 7°C F F9FH W & §| I7¢ FAL 1 J9FH 27°CE
Frater &1 Frfasaes o #41 gh

1. 14

2. 114

;A

4. V1§
Options :
1908893585. 1
1908893586. 2
1908893587. 3

1908893588. 4

Question Number : 23 Question Id : 190889914 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A flask contains argon and chlorine i the ratio of 2:1 by mass. The temperature of the mixture 1s
27°C. The ratio of average kinetic energy per molecule will be

2:1
5.
1. &l
4. 4:1

|

Options :

19088935809. 1
1908893590. 2
1908893591. 3

1908893592. 4

Question Number : 23 Question Id : 190889914 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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2:1
1:2
1:1
4:1
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Options :

1908893589. 1
1908893590. 2
1908893591. 3

1908893592. 4

Question Number : 24 Question Id : 190889915 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A 30.0 em long pipe 1s open at both ends. Which harmonic mode of the pipe resonates a 1.1 kHz
source? (speed of sound 1 awr=330 m/s)

. First harmonte
. Second harmonic
3. Third harmonic
4. Fundamental

1
2

Options :

1908893593. 1
1908893594. 2
1908893595. 3

1908893596. 4

Question Number : 24 Question Id : 190889915 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

1908893593. 1
1908893594. 2
1908893595. 3
1908893596. 4

Question Number : 25 Question Id : 190889916 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A steel wire 1.0 m has a mass 6.0x10” kg. If the wire is under a tension of 60 N, what is the
speed of transverse waves on the wire?

100 mv/s

10 m/s

120 m/s
2m/s

sk Ed e

Options :

1908893597. 1
1908893598. 2
1908893599. 3
1908893600. 4

Question Number : 25 Question Id : 190889916 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

10 m¥F Tt ST F AN # FEAAT 6.0x10° kg &1 TG TR FF T=7ar ONE ar
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100 m/s
10 m/s
120 m/s
12 m/s

B R I

Options :

1908893597. 1
1908893598. 2
1908893599. 3

1908893600. 4

Question Number : 26 Question Id : 190889917 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Particle A has charge q and the particle B has charge 9q. each having same mass m. If they are
allowed to fall from rest through the same potential difference. the ratio of their acceleration
aa/ag will be

Lo kel
2. ¢l
3. 15
4 T3

Options:

1908893601. 1
1908893602. 2
1908893603. 3
1908893604. 4

Question Number : 26 Question Id : 190889917 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908893601. 1
1908893602. 2
1908893603. 3

1908893604. 4

Question Number : 27 Question Id : 190889918 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



As shown in the figure. a charge Q 1s situated at the centre of the semicircle. The work done in
moving a point charge from P to A 1s Wa. from P to B 1s Wg and from P to C 1s We. Then we
can say.

oA P

oe

Wa=Wg=Wc
Wy > Wg >We
Wy < Wg < W
Wy =Wz > W

[

e

Options:

1908893605. 1
1908893606. 2
1908893607. 3
1908893608. 4

Question Number : 27 Question Id : 190889918 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Rt & T SR, 3R Q 3y & % & g &1 g smw F p¥ ATF
Fafed 50 9 & 5 7 FA WL R P U BAF Fhaad F A T FT WaE
NP CTF I T ST T FAW LT FE TR E

Ce ] pA eP
||Ill Q !]'
\ /
\ /
b /
N L7
1"--.___'___..-"'"
B
1. Wy=Wg=W¢
&

Wy > Wg>We
Wy <Wp<W¢
Wy=Wg=>W¢



Options :

1908893605. 1
1908893606. 2
1908893607. 3
1908893608. 4

Question Number : 28 Question Id : 190889919 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A spherical conducting shell of radius R 15 charged. The varation of electrostatic field as a
function of r. the distance from the centre of the shell 1s shown graphically by.

>

E

X, r
E4 |
|
>
3 R r
E4 |
|
I
I
|
5 R v
Ea |
I
|
i
|
|
|
|
|
|
: >
4, R J
Options :

1908893609. 1
1908893610. 2
1908893611. 3
1908893612. 4



Question Number : 28 Question Id : 190889919 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

R =2 &1 @1 amiefla FEE O 3R §1 3T AfoE 8 # A o F Goe
F T H L AT F F5 ¥ 380 gt aewitond # & Frw am@ & i maw g

m
>

,P

R r
EA |
l

R 1
E4 |
i
|
3 :
|

| >

R r
Ea :
|
i
I
4. Ii
|
|
|

' #

R r

Options :
1908893609. 1
1908893610. 2



1908893611. 3
1908893612. 4

Question Number : 29 Question Id : 190889920 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the circuit shown the figure, the total amount of charge supplied by the battery 1s

—

8uF 8uF

4uF
20V

1. 80puC

2. 160 pC

3. 400 pC

4. 320 pC

Options :

1908893613. 1
1908893614. 2
1908893615. 3

1908893616. 4

Question Number : 29 Question Id : 190889920 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



forT & geiv v aftgy F & g@nr smqia smaer $ Fa A g

—

8uF 8uF
4uF

20V

1. 80pC
2. 160 nC
3. 400 pC
4. 320 nC
Options :

1908893613. 1
1908893614. 2
1908893615. 3

1908893616. 4

Question Number : 30 Question Id : 190889921 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Manganin wire 1s used to make wire wound resistors since their

resistivity 1s high

resistivity is low

resistivity change very little with temperature
melting point 1s high

L

2

Options :
1908893617. 1
1908893618. 2

1908893619. 3



1908893620. 4

Question Number : 30 Question Id : 190889921 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AN I IEUUF TS F O A F G F IIRT g § FF 3 -

1. gfatras &8 #Us 2T 2

. YTeRIg® &HAT =g giar g

3. A9HA R GREd @9 § SIS AT # 9gd FA GGas e ¢
4. 3% BHEE 3T 2

| -

Options :

1908893617. 1
1908893618. 2
1908893619. 3

1908893620. 4

Question Number : 31 Question Id : 190889922 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A resistance R produces 400 J of thermal energy in 20 s when a current of 2 A 1s passed through
it. If a current of 5 A 1s passed through it for the same time. the amount of thermal energy
produced will be

8007J

10007
25001
200017

b2 =

o

Options :

1908893621. 1
1908893622. 2
1908893623. 3

1908893624. 4



Question Number : 31 Question Id : 190889922 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ry SfaT RE 2 A 9T 4T WaIigd FFT S WX 20 & 400 7 AT FT 39

2 &) ofE 39 & TET & ROT IuE 2 S A T veiea A £ 5o
AT FAT FT gRAT FAT

80017

1000 J
25001
20007

e e s —

Options :

1908893621. 1
1908893622. 2
1908893623. 3

1908893624. 4

Question Number : 32 Question Id : 190889923 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The ammeter shown 1n the figure consists of a 480 Q coil connected parallel to a 20 Q shunt, The
reading of the ammeter 15

180.2Q)

20V

0.1A

0.029 A
0.11A
001A

b

=

Options :

1908893625. 1
1908893626. 2
1908893627. 3
1908893628. 4

Question Number : 32 Question Id : 190889923 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Ry & 2o a0 et #20 Q 9C F WA ST FAT 480 QA Fuell Jpeffaree ¢
HTHIET FT 94 §

180.2Q

20V

0.l A

0.029 A
0.11A
001A

e s b —

Options :

1908893625. 1
1908893626. 2
1908893627. 3
1908893628. 4

Question Number : 33 Question Id : 190889924 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



As shown in the diagram., a battery of emf 2.0 V and internal resistance 0.1 Q 1s being charged
with a current of 4 A. Potential difference between the terminals of the battery 1

4A

0.1Q
2.0V

20V
16V
24V
0.4V

[

:[_~..l-'__.t_|

Options :

1908893629. 1
1908893630. 2
1908893631. 3
1908893632. 4

Question Number : 33 Question Id : 190889924 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



HRG # AT AT FTAR ewf 2.0V HR 7 gfammr o1 @# deff # 44 H
UNT FAed 7 o T 8] 2 F 3R o F 99 #1 e g

4A

0.1Q
2.0V

20V
16V
24V
04V

[ s

Options :

1908893629. 1
1908893630. 2
1908893631. 3
1908893632. 4

Question Number : 34 Question Id : 190889925 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following particles CAN NOT be accelerated by a cyclotron machine?

Proton
g-particle
Neutron
Electron

e Lad D

Options :

1908893633. 1
1908893634. 2
1908893635. 3

1908893636. 4



Question Number : 34 Question Id : 190889925 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TFted # ¥ 5% F01 F gEFaes 7iF § <&ig 72 fFar o1 ' § 0

1. 9rerd

Options :

1908893633. 1
1908893634. 2
1908893635. 3

1908893636. 4

Question Number : 35 Question Id : 190889926 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A proton beam 15 going from north to south and an electron beam is going from south to north
and parallel to proton beam. Both the beams are moving m same horizontal place. Neglecting the
carth's magnetic field. the electron beam will be deflected

1. towards proton beam

2. away from proton beam
3. upwards

4. downwards

Options :

1908893637. 1
1908893638. 2
1908893639. 3

1908893640. 4



Question Number : 35 Question Id : 190889926 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

13 St RO 95 3R @ afEr e # e = @ & AR s R g
SHE0T ® et fom # AT Seled Rheordst & WA A X T §1 Qel faaut Gt
Frwy ferst e & arfemr §| [ F R 6T A 5T A 0 I 7
fortor g5 7 forete g

1. et fRorger #r 3R
. JeiT R ¥ T
T
ST

Options :

[ ]

1908893637. 1
1908893638. 2
1908893639. 3

1908893640. 4

Question Number : 36 Question Id : 190889927 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A parallel beam of light of wavelength 5500 A falls normally on a slit of width 'a". Find the
value of 'a’' so that the first order maxima occurs at an angle of 30°

1.1x10-7m
1.1x10-6m
1.1x10-5m
1.1x10-4m

ol bt

Ll

Options:

1908893641. 1
1908893642. 2
1908893643. 3
1908893644. 4



Question Number : 36 Question Id : 190889927 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
FCES 5500 A FET F¥ FAR TR F01 9 WAaa: 4ists 0 F fae (v

AT R s 2 | 2 F oA A S T 90w w7 w7 sewaw B
30° % FIUT 9T AT £

1.1x10-Tm
1.1x10-6m
1.1x10-5m
1.1x10-4m

|

o

Options :

1908893641. 1
1908893642. 2
1908893643. 3

1908893644. 4

Question Number : 37 Question Id : 190889928 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A plane mirror 1s rotating at an angular velocity of 4 rad/s and reflects a light beam. The angular
velocity of the reflected light beam 1s

2rad’s
4 rad's
8 rad/s
16 rad’s

e s B2 —

Options :

1908893645. 1
1908893646. 2
1908893647. 3

1908893648. 4



Question Number : 37 Question Id : 190889928 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FIS AT ZUUT41ad/s F FIONT 397 & THUT T T § AR g fRporgs #
TEfdd FXaT §| Fiafated geer T qF 1 i 39 §

2 rad/s
4 rad's
8 rad's
16 rad/'s

bt

ol

Options:

1908893645. 1
1908893646. 2
1908893647. 3
1908893648. 4

Question Number : 38 Question Id : 190889929 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

When a beam of light having frequency v and wavelength £ enters from rarer to denser medium.
We can say

frequency v increases
frequency v decreases
wavelength £ mcreases
wavelength £ decreases

P B D

Options :

1908893649. 1
1908893650. 2
1908893651. 3

1908893652. 4

Question Number : 38 Question Id : 190889929 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

9 s T four O Former e v sttt ded ) ¢ Rl e & o e o
v @ & o 7 e o W ¢

1. ¥icd v & §
). Hgfed v weet §
3, T G TAE
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Options :

1908893649. 1
1908893650. 2
1908893651. 3

1908893652. 4

Question Number : 39 Question Id : 190889930 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The reddish appearance of the near the horizon at sunset and sunrise 1s due to

Diftraction of light

Scattering of light

Dispersion of light

Total mternal reflection of light

b

o

Options:

1908893653. 1
1908893654. 2
1908893655. 3
1908893656. 4

Question Number : 39 Question Id : 190889930 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

T AR gafem % waw gd & ffes & afoar feees Fwor femr & 2

I, GoTSr FT faae
2. T FT THUA

3. T FT qieErr
4. THERN F FA FARE o
Options :
1908893653. 1
1908893654. 2
1908893655. 3

1908893656. 4

Question Number : 40 Question Id : 190889931 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Susceptibility of the ferromagnetic material 1s

Small and positive
Small and negative
Large and positive
Large and negative

b

B

Options :

1908893657. 1
1908893658. 2
1908893659. 3
1908893660. 4

Question Number : 40 Question Id : 190889931 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



dilg IFah Tery & ganfear ¢

1. o AR TATcH+
2. &Y AR FHONCHF
. & AR uAeAF
. & 3R FHOTHF

S

Options :

1908893657. 1
1908893658. 2
1908893659. 3

1908893660. 4

Question Number : 41 Question Id : 190889932 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In an ac cireut, the potential difference (v) across a device and the current (I) flowing through it
are V=10 cos@t and =5 smat respectively. The power dissipated by the device 1s

Zero
5W
10W
25W

ool

PR

Options:

1908893661. 1
1908893662. 2
1908893663. 3

1908893664. 4

Question Number : 41 Question Id : 190889932 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



fordt geamaat ar aftwy & ff IR 7 REER (v) #7356 vaIed deare
URT (1) FAL: V=10 coset T 1=5sin ot {1 A T 3R 677 711 ¢

I
5W

10W
25W

|

oV

Options :

1908893661. 1
1908893662. 2
1908893663. 3
1908893664. 4

Question Number : 42 Question Id : 190889933 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For photoelectric emission. the threshold frequency depends on.

Intensity of incident light

Frequency of incident light
Collector plate potential

Nature of the photosensitive material

bt =

g

Options :

1908893665. 1
1908893666. 2
1908893667. 3

1908893668. 4

Question Number : 42 Question Id : 190889933 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908893665. 1
1908893666. 2
1908893667. 3

1908893668. 4

Question Number : 43 Question Id : 190889934 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A plane electromagnetic wave travels in free space along z-axis. At a certain point in space and

time E = 3i V /m . The magnetic field B at this point is

1. 07°;T

[ ]

0x10 % T

1w

= aa

0x10%; T

Options :

1908893669. 1
1908893670. 2
1908893671. 3

1908893672. 4

Question Number : 43 Question Id : 190889934 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



H1S FAAS [aEd T T z- 6T W AFd T & TAG Far ¢ e fwa
WE AR TAT R £-3ivim §I RGN IFHT 892 ¢

1077
0x10 % T

1w

Lol

0x10°; T

Options :

1908893669. 1
1908893670. 2
1908893671.3

1908893672. 4

Question Number : 44 Question Id : 190889935 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For a step up transformer number of turns 1n the primary 1s 100 and number of turns 1n secondary
15 300. It 15 used to step up 100V at 10A. If the efficiency of the transformer is 80%. then current
in secondary coil will be

1. 13A
2. 10B3A
3. 3A
. 30A

Options :

1908893673. 1
1908893674. 2
1908893675. 3

1908893676. 4

Question Number : 44 Question Id : 190889935 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



frdr wrfer afaiom (69 - 39 TRwe) & TUfET e 7 OAE e
100¢ IR ZREETF HTEA H QAT FEI 300 8| SHH T 10 AT 100 VH
Tifad = F Bw S amr ¢ 3t ofmfos @mee) fr Fsmarsen §
gl Fel # GaTga 4R 2

1/3A
103A
3A
30A

e —

fu L2

Options :

1908893673. 1
1908893674. 2
1908893675. 3
1908893676. 4

Question Number : 45 Question Id : 190889936 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The mass numbers of two atoms, A and B are 64 and 27 respectively. The ratio of their radu
RA:RB will be

64:27
4:3
27:64
34

|

N S )

Options :

1908893677. 1
1908893678. 2
1908893679. 3

1908893680. 4

Question Number : 45 Question Id : 190889936 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

A ¥ B WA HT ZcaAE WA FAM: 64 AN 2781 3Fh RARB =

-]

Options :

1908893677. 1
1908893678. 2
1908893679. 3

1908893680. 4

Question Number : 46 Question Id : 190889937 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For a hydrogen atom, the total energy (K.E+P.E.) in the first orbit is -13.6 eV. We can say that
the kinetic energy (K.E.) and potential energy (P.E.) of electron are respectively

1. 274eVand-13.6eV
2. 13.6eVand-274¢eV
3. -274eVand 13.6eV
4 Zeroand-13.6eV
Options :
1908893681. 1
1908893682. 2
1908893683. 3

1908893684. 4

Question Number : 46 Question Id : 190889937 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



fre grsgiem ] & U Suw F6 # FF FoA (KEAPE)-13.6eVE| 37 F¢
FFe £ 5 o i 939 591 (K E) 3t feg 741 PE)FAT: £

1. 274eV3HR -13.6eV
2. 13.6eVAHR -274¢V
3. 274eVHT 1366V
4. T AT -13.6eV

Options :

1908893681. 1
1908893682. 2
1908893683. 3

1908893684. 4

Question Number : 47 Question Id : 190889938 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

As compared to ¥ ¢ atom " ¢ atom has

1. two extra protons and two extra electrons

2. two extra protons but no extra electrons

3. two extra neutrons and two extra electrons

4. two extra neutrons and no extra electrons
Options :

1908893685. 1
1908893686. 2
1908893687. 3

1908893688. 4

Question Number : 47 Question Id : 190889938 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

e LV ]

1908893685. 1
1908893686. 2
1908893687. 3

1908893688. 4

Question Number : 48 Question Id : 190889939 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For transmitting a signal. the least size of the antenna should be.

1. 24
e

= ok
-~ =
N

Options :

1908893689. 1
1908893690. 2
1908893691. 3
1908893692. 4

Question Number : 48 Question Id : 190889939 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



fieaer Trafie s % T @99 o ufaa =fge

bl
-

LS
= =~ = ha

=
N B

Options :

1908893689. 1
1908893690. 2
1908893691. 3
1908893692. 4

Question Number : 49 Question Id : 190889940 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a junction transistor, collector segment 1s.

1. moderately doped and larger in size

2. lightly doped and thin n size

3. heavily doped and moderate in size

3. heavily doped and thin in size
Options :

1908893693. 1
1908893694. 2
1908893695. 3

1908893696. 4

Question Number : 49 Question Id : 190889940 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908893693. 1
1908893694. 2
1908893695. 3
1908893696. 4

Question Number : 50 Question Id : 190889941 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The logic symbol shown 1n the figure 15 used for

A
B

AND Gate
NOT gate
3. NOR gate
4. OR gate

bt

Options :

1908893697. 1
1908893698. 2
1908893699. 3

1908893700. 4



Question Number : 50 Question Id : 190889941 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Fefa # AT 77 dfas fHaw fres fov sgea dar g 2

A

1. AND?T
2. NOTE
3. NOR7E
., ORTE

Options :

1908893697. 1
1908893698. 2
1908893699. 3

1908893700. 4

Part B Chemistry

Section Id : 19088931
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50

Section Marks : 200
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Clear Response:
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Sub-Section Id : 19088957
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 190889942 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The monomeric units used in the synthesis of Dacron are:

1. Melamine and formaldehyde

2. Ethylene glycol and phthalic acid

3. Ethylene glycol and terephthalic acid
4. Hexamethylenediamine and adipic acid

Options :

1908893701. 1
1908893702. 2
1908893703. 3

1908893704. 4

Question Number : 51 Question Id : 190889942 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TH A F HOWUT H UFoldh SHEAT 2iar &

1. HolHAT 3T wrfeegEe
2. TR TeEHAS HT Ao 3
3. T TSRS HT SIFATREE e

4. TFETATINFSESUAT HT TSITF 35

Options :

1908893701. 1



1908893702. 2
1908893703. 3

1908893704. 4

Question Number : 52 Question Id : 190889943 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements
Statement I: Aspartame is a methyl ester formed from aspartic acid and alanine.

Statement II: Use of aspartame 1s limited to cold foods and soft drinks because it 1s unstable at
cooking temperatures.

In light of the above statements, choose the eorrect answer from the options given below

Both Statement I and Statement II are true
Both Statement I and Statement II are false
Statement I 1s true but Statement II 15 false
Statement I 1s false but Statement II 15 true

[ e R

Options :

1908893705. 1
1908893706. 2
1908893707. 3

1908893708. 4

Question Number : 52 Question Id : 190889943 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

1908893705. 1
1908893706. 2
1908893707.3
1908893708. 4

Question Number : 53 Question Id : 190889944 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Consider the following reaction:

1 eq CH4OH / Dry HCI
CH_—;CH_—;CI‘,HCHD o

CHs

The number of chiral carbon(s) in product A 1s:

L O
b = O

-t
s

Options :
1908893709. 1
1908893710. 2



1908893711. 3

1908893712. 4

Question Number : 53 Question Id : 190889944 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fArfat@a & o5 ke 7

1 eq. CH,OH / Dry HCI
CH3CH2CHCHO -

CHa

3cqTE 'A' H FISTd Fed G TE&AT §

1: 1
2. 4
o 2
4. 3
Options :

1908893709. 1
1908893710. 2
1908893711. 3

1908893712. 4

Question Number : 54 Question Id : 190889945 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the given reaction, the hybridization of carbon bonded to oxygen changes from:

®
H
. CHa CN ——= HaC .
H;C/\Q’/\._.H_ + CN o P
1. spl to 5133
2 sp to sp”
3. sp tosp
4. 5133 to spl

Options:



1908893713. 1
1908893714. 2
1908893715. 3

1908893716. 4

Question Number : 54 Question Id : 190889945 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

& 1 AfARRAT A IFHST ¥ T3 FEA F FFOT IRACAT Bl &

1. spl q 5p3
sp I spl
spj Hsp
5133 q spl

Options :

ey Laa | ]

1908893713. 1
1908893714. 2
1908893715. 3

1908893716. 4

Question Number : 55 Question Id : 190889946 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



An alkene ‘A’ on ozonolysis gives a mixture of 1 mole of glyoxal and 2 moles of eyclohexanone
AT s

O
i H H
<:>:C-CHD

H

H;
C>—C-CHO

Hy
@-C-CHD

Options :

[

4.

1908893717. 1
1908893718. 2
1908893719. 3

1908893720. 4

Question Number : 55 Question Id : 190889946 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FAAIET W U Voaa 'A' | A TG 3R 2 A AEFdRFaaT &
fBaor vl A Bl

=0
4 H H
s

; -

H;
@-C-CHD

Hy
O

Options :

4.

1908893717. 1

1908893718. 2



1908893719. 3
1908893720. 4

Question Number : 56 Question Id : 190889947 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Dihedral angle between the hydroxyl and amino groups of the most stable conformation in
2-aminoethanol 1s:

I:II}
60°
180°
120°

Fed

e

Options :

1908893721. 1
1908893722. 2
1908893723.3

1908893724. 4

Question Number : 56 Question Id : 190889947 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2-UAATIATS F TaW ST FUTE G0 A FEEieae AN ofEar gHg § A
fade 0T §

DD
60°
180°
120°

e L b

Options :

1908893721. 1
1908893722. 2
1908893723.3

1908893724. 4



Question Number : 57 Question Id : 190889948 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

For. a - column chromatography: b - paper chromatography and ¢ - thin layer chromatography.
which of the options 1s type of partition chromatography?

a and b only
b and ¢ only
b only
¢ only

I N L S R

Options :

1908893725. 1
1908893726. 2
1908893727.3

1908893728. 4

Question Number : 57 Question Id : 190889948 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

a- ITH FJUOIET: b- FTH JUE: c- Tdal 9T JoTarEeT

FiT @1 faFeq fFaor aveEa FTIFR §

1. T a AT b

2. FIAT b AT ¢

3. &doT b

4. Fgel ¢
Options:

1908893725. 1
1908893726. 2
1908893727. 3

1908893728. 4



Question Number : 58 Question Id : 190889949 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Select the correct option for number of sigma and p1 bonds respectively in the given organic
compound:

CN
cu—uc’@/

CHO

15 sigma and 6 p1 bonds
18 sigma and 6 p1 bonds
18 sigma and 3 p1 bonds
15 sigma and 3 p1 bonds

|

s e

Options :

1908893729. 1
1908893730. 2
1908893731. 3
1908893732. 4

Question Number : 58 Question Id : 190889949 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T v FefEs diTF § FA e 31X o8 eyt & 9T & v 98 e
el

=

CN
ClH2C ;

CHO

1. 15 R 3R 6 U5 3y
2. 18 e 3R 6 ey
3. 18 @A 3R 3OS ey
4. 15 Tar R 3915 ey

Options :



1908893729. 1
1908893730. 2
1908893731. 3

1908893732. 4

Question Number : 59 Question Id : 190889950 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider the structure of the nucleoside given below:

Ha

d

N
fﬂ”“

N ’i““‘o
HO

0
HO W OH

The attachment of phosphoric acid to which of the labeled position would lead to the formation
of a nueleotide?

a and b only
¢ only
3. donly
4. ¢only

[ pye—

Options:

1908893733. 1
1908893734. 2
1908893735. 3

1908893736. 4

Question Number : 59 Question Id : 190889950 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A & 3 FYFeraraTSs H WE A

d
NH

e =N

|N!-L“‘-D

HO

!.: e
HO CH

BRI 370 & 0 e 1 Rl @ J3a F ~yfFeriess #1 Ao gem

1. &ad a AT b
. &ad ¢
. &dd d
4. HIA ¢

Options :

[ ]

L

1908893733. 1
1908893734. 2
1908893735. 3

1908893736. 4

Question Number : 60 Question Id : 190889951 Question Type

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Select the FALSE statement for “Valine'.

It has an 1sopropyl group as a side chain.
It exists as dipolar ion in water.

| S

Faa

It 15 a non-essential amino acid.
It 15 an optically active compound.

e

Options :

1908893737. 1
1908893738. 2
1908893739. 3
1908893740. 4

: MCQ Option Shuffling : No Is



Question Number : 60 Question Id : 190889951 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ol F oI el FUT I ¢

1. STHN TTeT Y@ F HEESITS THE £
. TE FA H IEYT HAT F & H EA £

| ]

3. IE UF ¥NAETF UHAT HF7 g1
4. TE TF TH1A ThT JEF F
Options:

1908893737. 1
1908893738. 2
1908893739. 3
1908893740. 4

Question Number : 61 Question Id : 190889952 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one 15 labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A: Acetic acid 1s more acidic than phenol.
Reason R: Acetate 1on 1s more stable than phenoxide on.

In light of the above statements, choose the most appropriate answer from the options given
below

Both A and R are correct and R is the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A is correct but R 1s not correct

A is not correct but R is correct

e o B —

Options :
1908893741. 1

1908893742. 2



1908893743. 3
1908893744. 4

Question Number : 61 Question Id : 190889952 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A A FYF U AT 0F F AEAA (4) AR g A TF (R) FET A g
FfAFUa (A): RS 3vd Whld § ST 3FT &

aF (R): TACT I FTFATSS 3T 1 H9eT ST TS AN £

SHIFT FYA! F e A fIrnfea fwedt # F T IR o

(-

. (A) 3R (R) T TET § AR (R). (A) T TEr TEAT £

(4) AR (R) ST TG § o] (R). (A) T T SAEA 7@ ¢
. (A)WE § W] (R) TET AL B

. (A)TE T & Wed (R) T &

Options :

[ ]

[ e ]

1908893741. 1
1908893742. 2
1908893743. 3

1908893744. 4

Question Number : 62 Question Id : 190889953 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT
List I List I1

Structural Formula Name

OH 1. Catechol

II. Resorcinol

' =
0| O

B OH
OH
@\ 1. Hydroquinone
"B OH
OH
Iij/% IV. 0-Cresol
D.

Choose the correct answer from the options given below:

A-I. B-III. C-II. D-IV
A-III B-I. C-II. D-IV
A-IIIL B-1. C-IV. D-II
A-IL B-III. C-IV. D-II

b =

g

Options :

1908893745. 1
1908893746. 2
1908893747.3
1908893748. 4

Question Number : 62 Question Id : 190889953 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



@-I&#ﬂﬁ-ﬂ#ﬁﬁﬁﬁﬁﬁv:

List I List II
TTATHS A ATH

OH
OH I &earer
A
| CH
11. R
B. OH
. on

@\ INMSSESIECGIG
c. OH

OH
@ﬁ“ﬂ IV. o-forarel
D.

A RT T faedt # @ A8 3ok gEAT

A-1. B-III. C-II. D-IV
A-III, B-1. C-I1. D-IV
A-III. B-1. C-IV. D-II
A-1, B-III. C-IV. D-II

LV S

B

Options :

1908893745. 1
1908893746. 2
1908893747.3

1908893748. 4

Question Number : 63 Question Id : 190889954 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following haloalkane has least reactivity with aqueous KOH?

o=
1 //"\«f"J‘\.
33 MCI
2. I
5 /\x.//]\
Br
Options :

1908893749. 1
1908893750. 2
1908893751. 3

1908893752. 4

Question Number : 63 Question Id : 190889954 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FArafai@d geivedar # ¥ radr Tranfredr Soilg KOH® §ed &7 § 2

| ]

Cl
I
Br
Options :
1908893749. 1
1908893750. 2

1908893751. 3

1908893752. 4



Question Number : 64 Question Id : 190889955 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The total number of chiral carbons/centers in f-D-ribose are:

Three
Four
Five
Two

| S

o

Options :

1908893753. 1
1908893754. 2
1908893755. 3

1908893756. 4

Question Number : 64 Question Id : 190889955 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
B-D-ZEH H Fol FSTA Frelall/Foal B AEAT gl

1. o=

1LY

ara
4. ar

Options :

1908893753. 1

1908893754. 2

1908893755. 3

1908893756. 4

Question Number : 65 Question Id : 190889956 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The correct option for the structures of acrolein and peroxyacetylnitrate are respectively:

1. CHy=CHCHO and CH;COONO;
H,C-C-00NO;
CH=CHCHOand O
CH3CH,CHO and CH;COONO»
H;C~C-00NO,
CHCH-CHO and 0

L b

Options :

1908893757. 1
1908893758. 2
1908893759. 3

1908893760. 4

Question Number : 65 Question Id : 190889956 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Wi 3R RIFaeHifcaasee f WO & fov Faer: @ @weT # 9 .

1. CH;=CHCHO and CH;COONO,

HsC—C-OONO;

CH,=CHCHO O
’ HR

3. CH;CH,CHO 3R CH;COONO;
H,C~-C~-00NO;

4. CHyCH,CHO 3R 0

[ ]

Options:

1908893757. 1
1908893758. 2
1908893759. 3

1908893760. 4

Question Number : 66 Question Id : 190889957 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Consider the following reaction:

NH NH.- NH- NH

2 2 2
@ HNOs + HaSO, @ @ND:
- + +
16 °C MO
NO.
(51%) (47%) (2%:)

Significant amount of meta-isomer forms because:

1. —NHo group 1s ortho-, para- and meta-director.

2. Anilinium ions are formed during the reaction.

3. There 1s less stearic hindrance at meta-position.

4. Low temperature increases the amount of meta-isomer.
Options :

1908893761. 1
1908893762. 2
1908893763. 3

1908893764. 4

Question Number : 66 Question Id : 190889957 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fArfaf@a sk 7.

NH. NH NH NH.
HNOs + HaSO, NGy
- + +
1070 NO-
NO.
(51%) (479%) (2%)

HT-FATGIS & AEcaqoT ATAT Selalm &, FAMF ¢

1. -NH, g 3t - 1 3R e @l w9 g £l
2. HfaAfF & ehe AT 3mae a9 &
3. HAo-RYufa # R atr &3 grdr gl

4. FH A9 AST-GATGIG ST AT TeTam &



Options :

1908893761. 1
1908893762. 2
1908893763. 3
1908893764. 4

Question Number : 67 Question Id : 190889958 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the given reactions will yield amine as a product with less number of carbon than the

reactant?

ano
A
0 .
O st
B. 0
0
=\ Br, + NaOH
" \ 'l/ E'”H‘_ i
C.
OC;M Hai -
D.
1. Aonly
2. Band C only
3. CandD only
4. Conly
Options :

1908893765. 1
1908893766. 2
1908893767. 3
1908893768. 4

Question Number : 67 Question Id

: 190889958 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

rafafEa & 1 3T A e 3t & 3fens & e 79 Fe9 #7
VA 3cUIg ST gem 2

7{P
o2
Ethanol

A
0
-t —o
B. - 187
0 A
<::}—E—HH3 Br, + NaOH "
C.
0
@—E—HH; Brp+ NaOH
D.
1. &gd A
). FaT BAR ¢
3. Fad CHR D
4, Fad C
Options :

1908893765. 1
1908893766. 2
1908893767. 3

1908893768. 4

Question Number : 68 Question Id : 190889959 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements

: AR L :
Statement I: 1" ionization enthalpy of Zn is higher than Cu.
Statement I1: 2™ fonization enthalpy of Zn is lower than Cu.

In light of the above statements. choose the most apprepriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I 1s correct but Statement IT 1s incorrect
Statement I 1s incorrect but Statement II 15 correct

| =

.

Options :

1908893769. 1
1908893770. 2
1908893771.3

1908893772. 4

Question Number : 68 Question Id : 190889959 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
S g wua fT aw §

FAT - 1: Zn FT TUF JTTA T=Idr Cu § ST 2T &

FUT - 11 : Zon FT ST 31007 =l cCu T F7 g4 £

3UUFT FAAT F W@ F FAtaad FEea F ¥ w9 3w g9

[

. FUF 131 naEr w8 g

FUF 13X 1A T &

FUF 1T 8. fFeq F I 30T
. FYT 17T 2. =g FUT LT E

| ]

Faa

e

Options :
1908893769. 1
1908893770. 2



1908893771. 3
1908893772. 4

Question Number : 69 Question Id : 190889960 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements
Statement I: Fluorine oxidises water to oxygen.
Statement IT: Chlorine reacts with water to form hydrochloric acid.

In light of the above statements. choose the most appropriate answer from the options given
below

Both Statement I and Statement IT are correct
Both Statement I and Statement II are incorrect
Statement I 15 correct but Statement II 1s incorrect
Statement I 1s incorrect but Statement II 1s correct

b i

e

Options :

1908893773. 1
1908893774. 2
1908893775. 3

1908893776. 4

Question Number : 69 Question Id : 190889960 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A=rar Fug R v £
FUF - 1 TN T FT A FHGH F A FEF FT 2

FUAT - I1: FoIT AT T ATATFAT F3F FT=SFaAF 347 &1 ¢

39YFd FAAT F e 7 FEafaf@s e # ¥ 5 3o 9+

1. FUT 13T D& T2 £
FUA [T AT T 2
FUA 18T €. g Fu9 09T B
4. FUT 1779 g, fheg FUT LT £

[ ]

L]

Options :

1908893773. 1
1908893774. 2
1908893775. 3

1908893776. 4

Question Number : 70 Question Id : 190889961 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following options related to sulphuric acid is incorrect?

Highly volatile

Strong acid

High affimty for water
Oxidising agent

b

e

Options :

1908893777. 1
1908893778. 2
1908893779. 3

1908893780. 4

Question Number : 70 Question Id : 190889961 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
e fFFedl # @ o R 37w F T i & foFeT 7oa € 2

1. F==1 areqefter

2. 9deT HFA
3. oo ¥ for = FHar
4. HFUFNF

Options :

1908893777. 1
1908893778. 2
1908893779. 3
1908893780. 4

Question Number : 71 Question Id : 190889962 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Thermal decomposition of ammonium dichromate gives

Ni. Cry0; only

N», H,0. Cr,05 only

Na. CrOs only
Na. HyO. CrO; only

| S

L

Options :

1908893781. 1
1908893782. 2
1908893783. 3

1908893784. 4

Question Number : 71 Question Id : 190889962 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



HATATH ST F adig 3vged o Aerar § -

1. &del N2 3R CnOs:
. &g N,, H,0 3R Cr,05
. Fad Np 3 Cr0;
4. FFA Ny Ho0 3T CrOs

[ ]

Lrw)

Options :

1908893781. 1
1908893782. 2
1908893783. 3

1908893784. 4

Question Number : 72 Question Id : 190889963 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: Limestone 15 added as a flux to oxidise Si and P 1n blast furnace for extraction of
irom.

Statement II: The given reaction is a step in the extraction of iron occurs at high temperature
(900-1500K) 1n blast furnace.

3Fe;03 + (0 —— = JFe;s04 + CO;

In light of the above statements. choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement IT are incorrect
Statement I 1s correct but Statement II 1s incorrect
Statement I 1s incorrect but Statement II 15 correct

I

Options :
1908893785. 1
1908893786. 2

1908893787. 3



1908893788. 4

Question Number : 72 Question Id : 190889963 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AT & Fua R aw §

FUA - 1:701g & ASHIOT H aeam 21 A Si AR P F G A & forw o
TR & MeF & T H 36 S g

FUA - 11 81 975 HTAFRAT arear 987 & 3T a9 (900-1500K) W 3RRA & fosamyor
H TF FeH £l

3Fe,03 + CO ———w» 2Fes04 + CO,

I FYAT & HeF A Fefafld Awed F @ 78 s’ g4
. FUA 13K ndEr @ &l

2. U 13T ngEr o g

. YA 1WA 8. ] F9 e B
. &Y 19700 8. e YT I B

[

-

gt

Options :

1908893785. 1
1908893786. 2
1908893787. 3

1908893788. 4

Question Number : 73 Question Id : 190889964 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Compound 'X' 1s a white crystalline solid of boron with soapy touch. 'X'1s

1. Borox

2. Orthoboric acid
Boric oxide
Diborane

ot

Options :

19088937809. 1
1908893790. 2
1908893791. 3
1908893792. 4

Question Number : 73 Question Id : 190889964 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i X g F T & WY I 7 0w eeerd o gl AffEm X
d

1. aNFd
. IR 3Fe
3. SIN® Heass
4. STEEANA

Options :

| ]

1908893789. 1
1908893790. 2
1908893791. 3

1908893792. 4

Question Number : 74 Question Id : 190889965 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Cement clinker 1s mixed with X % of gypsum by weight to form cement, X' 1s

22-24%
15-16%
7-9%

2-3%

a =

N

Options :

1908893793. 1
1908893794. 2
1908893795. 3

1908893796. 4

Question Number : 74 Question Id : 190889965 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

He e #1399 F FER X % Teaw  wry e g 9 a9 gl ox
_®

22-24%
15-16%
7-9%

2-3%

|

i

Options :

1908893793. 1
1908893794. 2
1908893795. 3

1908893796. 4

Question Number : 75 Question Id : 190889966 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Grven below are two statements. one 1s labelled as Assertion A and the other 15 labelled as
Reason R

Assertion A: Lithium halides are generally covalent 1n nature.
Reason R: Lithium 1on has high polarization capability.

In light of the above statements, choose the most appropriate answer from the options given
below

Both A and R are correct and R 1s the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A is correct but R 1s not correct

A is not correct but R 1s correct

b =t

i

Options :

1908893797. 1
1908893798. 2
1908893799. 3

1908893800. 4

Question Number : 75 Question Id : 190889966 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A o 94 fGU 0 § ; 0F 7 3FUA (A) 3R A F FROT (R) FET I §

HHFU (A) : RTA Fomes AT wEEe T & A E
FNOT (R) : oy et 1 39 diaor & gl 2
IHFT FYA F e A e OFed 7 ¥ qEr IR I

- (A) 3R ()3T TE € 3R (R). (A) Fr TE TE g
(A) 3R (R) ST T & T (R). (A) FT LT cATET AT B
. (A) T & W] (R) TE TG &

(A) 8T 78 § W (R) R B

e LIFF] | ] —

Options :

1908893797. 1



1908893798. 2
1908893799. 3

1908893800. 4

Question Number : 76 Question Id : 190889967 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In the following reactions:

catalyst/
y - =

2H) @) + 02 ®) ~oaring 2H,0 (I): AH” =X

3H, (g) + Ny (p) —sk2002® m  ONH; (g); AH® =Y

The values of X and Y are respectively

+ve and +ve
-ve and +ve
+ve and -ve
-ve and -ve

b

]

Options:

1908893801. 1
1908893802. 2
1908893803. 3

1908893804. 4

Question Number : 76 Question Id : 190889967 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



IGEEICITCEECIEIE I e g

catalyst/
2H, ® + 01 ® ~eating 2H,0 (1): AH® =X
3H, (g) + N, (g) ——Cr2002 g ONH; (g); AH® =Y
X 3R Y & AT FHA gl

1. YdATcHE 3R 4aATcHS
FHOMHF 3T UaATcAS
. YATeHE 3T HOMcHAS
4. FHOMcHAF AR FHOMcHF

[ ]

%]

Options :

1908893801. 1
1908893802. 2
1908893803. 3
1908893804. 4

Question Number : 77 Question Id : 190889968 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Pb;0, + SHCI > 3PbCl, + Cl, + 4H,0

In the given reaction. oxidant (Q) and reductant (R) are respectively

1. O=PbO.R=CI
2. 0=Pb0, R=PbO
0 = PbO, R = PbO,
O =PbO. R=CT

ek |

Options :

1908893805. 1
1908893806. 2
1908893807. 3

1908893808. 4



Question Number : 77 Question Id : 190889968 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Pb;0, + SHCI = 3PbCl, + Cl, + 4H,0

ar a8 AATRT A JFHFRE (0) AR ITI™IF (R) FHAA: ¢

O=PbO.R=CI
O =Pb0O,. R =PbO
O =PbO, R=PbO
O=Pb0O:. R=CT

| S

B

Options :

1908893805. 1
1908893806. 2
1908893807. 3

1908893808. 4

Question Number : 78 Question Id : 190889969 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements
Statement I: The lattice enthalpy of NaCl (g) is 788 kJ mol™.

Statement II: 788 kT of energy 15 required to separate one mole of gaseous NaCl mnto one mole
of Na™ (g) and 1 mole of CI (g).

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I 1s correct but Statement II 1s incorrect
Statement I 15 incorrect but Statement IT 1s correct

b

e e

Options :

1908893809. 1



1908893810. 2
1908893811. 3

1908893812. 4

Question Number : 78 Question Id : 190889969 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A g wua T A

FUA - [: NaCl () T F1o T4 788 kI mol” §

FUF - [1: TF Al FET NaCl F. TF AT Na'(g) 3T 0F AT Cl (o) F Ho9T T F
forr 788 k1 F= i HIeTFAT B 2

39T FUA F HAE A fawfafea GFe # ¥ ' 5o o

I FY 13T D3& T &
2. FUF 13T ngE 79 £
3. FUA 198 2. e FUa 170 21
4. FY 1770 . e Fu7 T 21
Options :
1908893809. 1
1908893810. 2
1908893811. 3

1908893812. 4

Question Number : 79 Question Id : 190889970 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



In Mendeleev’s periodic table. number of series and groups are X and Y. respectively. X and Y
are

|

%

4.
Options :
1908893813. 1
1908893814. 2
1908893815. 3
1908893816. 4

Question Number : 79 Question Id : 190889970 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Feelg $T T GO F E4AT T A7 T T FAC XHT VE XHR Vv E

B e N o
¥ P
1]
[ a]

Options :

1908893813. 1
1908893814. 2
1908893815. 3
1908893816. 4

Question Number : 80 Question Id : 190889971 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements
Statement I: Robert Bunsen used line spectra to 1dentify elements.

Statement II: The emission spectra of atom in the gas phase do not show a continuous spread of
wavelength.

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement IT are incorrect
Statement I 15 correct but Statement II 1s incorrect
Statement I 1s incorrect but Statement I 1s correct

[ =

el

Options :

1908893817. 1
1908893818. 2
1908893819. 3
1908893820. 4

Question Number : 80 Question Id : 190889971 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A g wua fer v

FUF - 1:74¢ G0 o deal F TFaea F o0 W wegr & 3930

FUA -11: W FTEA H A F IeHAd FIeH Jeed F et guw A
o 2|

3T FUA F qAE # e SEed # ¥ W3 W

1. FIF 13T 12 @ &
2. FUF AT 12A 79 £
3. FY 19 ¢ e F9F 17ed 2
4. FYF 170 ¢, g FuT 1 FE 2

Options :

1908893817. 1



1908893818. 2
1908893819. 3

1908893820. 4

Question Number : 81 Question Id : 190889972 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following statements 1s not correct?

1. Dinitrogen is rather inert at room temperature because of the high bond enthalpy of N=N

bond.

2. Optimum conditions for the production of ammonia are a pressure of 200 x 10°Pa. a
temperature of ~700 K and the use of a catalyst.

3. Dinitrogen directly combines with some metals to form predominantly covalent nitrides.

4. Interstitial compounds are usnally non-stoichiometric and neither typically 1onic nor

covalent.

Options :

1908893821. 1
1908893822. 2
1908893823. 3
1908893824. 4

Question Number : 81 Question Id : 190889972 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



fFrfofed & @ #la @ o w7 § 0

1. N=N 36 $ 30 FEY WAl $f aoF & SEASeIo FA & ad W
HsF Bl Bl

2. AT & 3cUeA & [T SCaH e, 200 x 10° Pa g1 ~700 K a9 3R 38R
FT I £

3. STSAECIo $O I3 & AT WY FYFA g AT T Y Tgados
ATBEIEE P FA g

4. Feaaelt ARE FHER W A RRARE e & WA @ 3w ak |
Imafae 3R 7 & gEEaed B E

Options:

1908893821. 1
1908893822. 2
1908893823. 3

1908893824. 4

Question Number : 82 Question Id : 190889973 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match the method mn List I with the reaction in List IT

List I List 11

. 350K 470K
A, Clark’s method ! Ni +4C0 »  Ni(CO), = Ni+4C0
B. Calgon’s method L. Mg(HCO3); + 2 Ca(OH); & 2 CaCOs| + Mg(OH); | +2H,0 |

C. Castner-Kellner's method [IIL. Ca® + Na,PsOy> > [Na,CaP:Oy” +2 Na'

Cathode: Na* + e —%—Na- amalgam
D. Mond's method ' o1 )
Anode ; Cl —:ECig +e

V.

Choose the correct answer from the options given below:

A-IL B-IIL, C-IV, D-I
A-II B-IV, C-1. D-III
A-IIL B-II, C-IV, D-I
A-IIL B-L, C-IV. D-II

=

s el

Options :

1908893825. 1
1908893826. 2
1908893827. 3

1908893828. 4

Question Number : 82 Question Id : 190889973 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



I 1F & o RfYr & gE nH afEfer @ gafea w57

-1 e -0
.A. Foeh 150K 470K

| Ni+4CO — = Ni(CO)y ——m= Ni+4CO
fafer I
B. STeldld

1. Mg(HCOQOs), + 2 Ca(OH), = 2 CaCO;| + Mg(OH), | + 2H,0
C. hTEAT
Fll [ Ca®™ + NasPeOs® > [NaxCaPeOigl” +2 Na®
fafer
D A= Cathode: Na* + e"—Na - amalgam

1

afer Anode:Cl" - =Cl, +e”

V. 2

arer T av fawent # @ 6 3o gfAv

A-IT, B-IIL. C-IV. D-I
A-II, B-IV, C-1. D-ITI
A-ITL B-II. C-IV, D-I
A-ITL B-1. C-IV. D-II

| B

e L

Options:

1908893825. 1
1908893826. 2
1908893827.3
1908893828. 4

Question Number : 83 Question Id : 190889974 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements
Statement I: Silicones are surrounded by non-polar alkyl groups. thus water repelling in nature.

Statement IT: The starting materials for the manufacturing of silicones are alkyl or aryl
substituted silicon chlorides.

In light of the above statements. choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I 1s correct but Statement I 1s mcorrect
Statement I 1s tncorrect but Statement IT 15 correct

| =

ok

Options:

1908893829. 1
1908893830. 2
1908893831. 3
1908893832. 4

Question Number : 83 Question Id : 190889974 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AT A FF T AT

FUF - 1 3ET OfoFa wgl & o g F Fwor faforia i sowfasdt gia
g g

FI - 11 BFaT & A & gufes gerd ofesa arver ofier gfoeard Rt
FeNTSE e 2

IF FA F HAE B Aeferes eed § ¥ W 3o 9

1. FIT 1317 12 T &)
2. FUF 137 134t T #

3. FUF 198 . fheq F99 1791 £
4. FIA 170 2. e Fu 18 2

Options:



1908893829. 1
1908893830. 2
1908893831. 3

1908893832. 4

Question Number : 84 Question Id : 190889975 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one 15 labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A: [Ti(Hy0)s]Cls on heating, removes water molecule and becomes colorless.

Reason R: In the absence of ligand. crystal field splitting does not occur and hence the substance
1s colorless.

In light of the above statements, choose the most appropriate answer from the options given
below

Both A and R are correct and R is the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A 15 correct but R 15 not correct

A 15 not correct but R 1s correct

[ N

Options :

1908893833. 1
1908893834. 2
1908893835. 3
1908893836. 4

Question Number : 84 Question Id : 190889975 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A g Fu U AT UF F7 AT (A) 3T TEY FFWOT (R) FET AT F

HIEFAF (A) : [TH0)]Cl TH A T Tl & HUH 7 TFTere] T & el
gl

FROT (R) : FonrE # wepeieafy & ferea &7 s @ @ & 3R sufor vy
T & 71 £

IS FUA F HAE & e fEew § ¥ 5 3o o

[S—

(A) #T (R) T TE & T (R). (A) F T amE g
(A) AT (R) ST WET & T (R). (A) T WET AT A g
(A) WEr § T=q (R) WET 4T £l
(

A) T G § T (R) T g

[ ]

L]

e

Options :

1908893833. 1
1908893834. 2
1908893835. 3
1908893836. 4

Question Number : 85 Question Id : 190889976 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: A molar property (ym) 1s the value of an extensive property (y) of the system for 01
mol of the substance.

Statement IT: If n 1s the amount matter, y, = y /m 1s independent of the amount of matter.
In light of the above statements, choose the correct answer from the options given below
Both Statement [ and Statement II are true

Both Statement I and Statement IT are false

3. Statement [ 15 true but Statement II 15 false
4. Statement I 15 false but Statement IT 15 true

[

Options :



1908893837. 1
1908893838. 2
1908893839. 3

1908893840. 4

Question Number : 85 Question Id : 190889976 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AT FF Graw e

FUA - 1 TR 0T (1) TETH & TF A & O fawm & & @aws 97 () &
Gk

FUF - I1: IS 32T T AT 0T T yu=7/n §eT H AT ¥ =T &
FFT FIA F AF F AFATNGT hedt # F W 3o I

1. FUF 1HT T34 T &
2. FUF 137 D3 799 £

3. FuT 198 8 e Fa9 17T g
4. FUT 177009 ¢, Fheg Fua TTEE

Options :

1908893837. 1
1908893838. 2
1908893839. 3

1908893840. 4

Question Number : 86 Question Id : 190889977 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements. one 1s labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A: Carbon dioxide gas above its eritical temperature 15 called carbon dioxide vapor.
Reason R: A gas below the critical temperature can be liquefied by applying pressure.

In light of the above statements, choose the mest appropriate answer from the options given
below

Both A and R are correct and R is the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A is correct but R is not correct

A 1s not correct but R 1s correct

b —

e Caa

Options :

1908893841. 1
1908893842. 2
1908893843. 3

1908893844. 4

Question Number : 86 Question Id : 190889977 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AT &1 FuF fer AT € v S qBwUF (A) HT S F FROT (R) F A £

HAFIT (A) : FifaF T9AE ¥ FN Fod TRHFAES I F Fad SSHFIE
I FZd £

FNUT (R) : FifaF A9AE § &1 1 39 FF a9 T 99 BFar 1 w41 3

3‘?{1}!—? FUAT F AF A wied Fedt # ¥ W 3ol I

[—

(A IR R)IEN W E AT (R). (A) F wEr = g

(A) 3R (R) 2 WEr & T (R). (A) FT WET SAEA A &
- (A)TE & g (R) T T 8

- (A)TE T T (R) T B

e L] [ ]

Options:



1908893841. 1
1908893842. 2
1908893843. 3

1908893844. 4

Question Number : 87 Question Id : 190889978 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The Greek word k (kappa) 1s the representative symbol for:

1. Resistivity

2. Molar Conductivity
Equivalent Conductivity
Conductivity

o L0

Options :

1908893845. 1
1908893846. 2
1908893847.3
1908893848. 4

Question Number : 87 Question Id : 190889978 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

M oA « (FAT) _ FIH TS €

1. gfcRngshar

. HATerX =ATeTshar
3. Jodihl =ATelshd]
4. =Telshdl

[ ]

Options :
1908893845. 1

1908893846. 2



1908893847. 3
1908893848. 4

Question Number : 88 Question Id : 190889979 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following reactions does not form sols?

Double deconmposition  _
1. As0O3+ 3H-S = AsS8;+ 3H,0
Coddation
2. 2805+ (h 2503
Ooddation

B
3. 50+ 2H;S 38 +2H30

Hydralysis

4. FeClz + 3H,0O Fe(OH); + 3HaCl

Options :

1908893849. 1
1908893850. 2
1908893851. 3

1908893852. 4

Question Number : 88 Question Id : 190889979 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

AfafEaa 7 9 sig i 3Rt ara T8 gardrg 2

Droaubales desconrpamition

1. As20O3+ 3H»S = AsS3;+ 3H,0

Coadation
2. 28O+ Oy 2503
Onddation
3. SO, +2H,S = 384 2H,0
Hydr oly'sis

4. FeClz + 3H20 Fe(OH); + 3H2Cl

Options:
1908893849. 1

1908893850. 2



1908893851. 3
1908893852. 4

Question Number : 89 Question Id : 190889980 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The half-life for first order decomposition of compound X’ 15 126 minutes. then how many
hours are required for 90% decomposition of “X'?

6.97
69.7
418

41.8

bt =t

. e

Options :

1908893853. 1
1908893854. 2
1908893855. 3

1908893856. 4

Question Number : 89 Question Id : 190889980 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A X & JUA Ffe 3T F 37 3T 126 AT B gE 00 % wEied g A
forceT Hver T ©

1. 6.97
2. 69.7
3. 418
4. 418
Options :
1908893853. 1
1908893854. 2
1908893855. 3

1908893856. 4



Question Number : 90 Question Id : 190889981 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Out of the given equations. which can be used to explain the temperature dependence of the rate
of a chemical reaction?

1. Tln(k/A)=-E.R
B Bh |
LA )
Rln(k’/A)=-E, T
4. Bin(/A)=-RT

L]

Options :

1908893857. 1
1908893858. 2
1908893859. 3

1908893860. 4

Question Number : 90 Question Id : 190889981 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fer v Teieot & . R 3va qarafas dRfE r afy & aae ek
F THSE F T & 1 gar @

. Tia(k/A)=-E,R
|k‘.

2. RTIn|—|=-E,
!._":5.,]

3. Rln(k/A)=-E,T
4. Eiln(k’A)=-R.T

Options :

1908893857. 1
1908893858. 2
1908893859. 3

1908893860. 4



Question Number : 91 Question Id : 190889982 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For the dilute solutions. the elevation of boiling point (ATy) 1s directly proportional to the molal
concentration (m) of the solute in a solution.

ATyam
or. ATy=kym
where ky 15:
Freezing point depression constant
Molal depression constant

3. Cryoscopic constant
4. Ebullioscopic constant

bt —

Options:

1908893861. 1
1908893862. 2
1908893863. 3
1908893864. 4

Question Number : 91 Question Id : 190889982 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



a9 FeTa # F3uAF F 37494 (ATy) e & 39ityd faow 1 Sow o &
TR A 2

ATpam

A ATy=kym

Tk £l

1. A" 3Eaaa e

2. Ao 3998 B

| T
4. R R

Options :

L]

1908893861. 1
1908893862. 2
1908893863. 3

1908893864. 4

Question Number : 92 Question Id : 190889983 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following double bond has highest enthalpy mn kJ at 298K?

C=0
C=C
N=N
0=0

| ]

it

Options :

1908893865. 1
1908893866. 2
1908893867. 3
1908893868. 4



Question Number : 92 Question Id : 190889983 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fa= & ¥ fev o fng gfay #r t=3et W H 208 K 919 W H{E+aHA g °

O

C
=N
O

F L b2
e B o B g
Il

Options :

1908893865. 1
1908893866. 2
1908893867. 3
1908893868. 4

Question Number : 93 Question Id : 190889984 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If six atoms of equal size are placed at six faces of simple primitive cube without distorting the
lattice, what would be the packing fraction of the modified lattice?

0.74
0.63
3. 054
4. 048

b —

Options:

19088938609. 1
1908893870. 2
1908893871.3
1908893872. 4

Question Number : 93 Question Id : 190889984 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Ife THE AN F OF WANHE & Ao # &5 &0 o Wa 37e7 07 o8
Goldl T T@T AT ¢, J e el i ol &R F41 2

0.74
0.63
3. 0.54
4. 048

b —

Options :

19088938609. 1
1908893870. 2
1908893871. 3
1908893872. 4

Question Number : 94 Question Id : 190889985 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List I with List II

ListI List IT
Crystal system Examples
A. Cubic [. KNO;

B. Tetragonal II. Na:S04.10H-0
C. Orthorhombie [ITI. Zine blende
D. Monochinie |[IV. TiOa

Choose the correct answer from the options given below:

A-IV. B-1, C-II. D-III
A-IL B-III. C-IV, D-II
A-IIIL B-1. C-IV. D-II
A-III B-IV, C-1. D-II

[

Options :

1908893873. 1
1908893874. 2
1908893875. 3

1908893876. 4



Question Number : 94 Question Id : 190889985 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T -1 T -1 ¥ gARfoT HIfaT

T -1 T -11

foeeea EALEU

A g . KNO;

B. ZATHHETE T1. N2S04.10H,0
C. Erywerans 1L 5- =of3
D. UsheAdra] IV. TiO;

A fqr aw et # ¥ WE e IfAv

A-IV, B-1. C-II. D-III
A-L B-IIL. C-IV. D-II

bd

3. A-IIL B-L C-IV. D-II
4. A-II B-IV. C-I. D-II
Options:

1908893873. 1
1908893874. 2
1908893875. 3

1908893876. 4

Question Number : 95 Question Id : 190889986 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

List I List 11

Tvpes of Solutions [Common Examples

A. Gas in Gas I. Solution of hydrogen in palladium
B. Solid in Gas II. Mixture of oxygen and nitrogen gas

C. Gas in Liquud  |III. Camphor in nitrogen gas

D. Gas in Solid IV. Oxygen dissolved in water

Choose the correct answer from the options given below:

1. A-II B-III C-IV, D-I

2. A B-I. C-IV. D-III

3. A-I B-IV. C-III. D-I

4. A-IIL B-IV. C-1. D-III
Options :

1908893877. 1
1908893878. 2
1908893879. 3

1908893880. 4

Question Number : 95 Question Id : 190889986 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



T -IFI R -1 § gAfeT FITET

.'ﬂ\?-ﬁ-I g -II

o=l & R FEET 3R

Adw F A 1. ZEerad &1 defEan & RHewa

B. 39 # 3 11 AT AT A 39 &1 Json
C.gT F I 1. F FT AEe=A 37 H

D.3W # ¥ IV. ST # Yol g 3MFeiata

A fGT 71T Bt & ¥ W@ 3o A0

A-II, B-III. C-IV, D-I
A-IL B-1. C-IV. D-III
A-IL B-IV. C-III. D-I
A-IIL B-1IV, C-I. D-III

e o b

Options :

1908893877. 1
1908893878. 2
1908893879. 3

1908893880. 4

Question Number : 96 Question Id : 190889987 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

List I List II
A AG°>0[LK<1
B.AG®=0[ILK=1
C.AG®<0 [I.K>1

Choose the correct answer from the options given below:

A-I B-II. C-III
A-II. B-1. C-III
A-I B-IIIL C-II
A-II. B-III. C-I

LI S ]

o5

Options :

1908893881. 1
1908893882. 2
1908893883. 3

1908893884. 4

Question Number : 96 Question Id : 190889987 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T IR - ¥ gRfeg fifsT
= -1 .H\_tf’r-ll.

A.AG®P>0LK<1
B.AG=0[ILK=1
C.AG <0 L. K>1

A T av fasedt # ¥ WEr 3ccR AT ¢

A-L B-II. C-III
A-II. B-1. C-TII
A-I. B-III. C-II
A-II, B-III. C-I

L O

o

Options :

1908893881. 1



1908893882. 2
1908893883. 3

1908893884. 4

Question Number : 97 Question Id : 190889988 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: The mass of a gas dissolved in a given mass of a solvent at any temperature 1s
proportional to the pressure of the gas above the solvent.

Statement II: The rate of dissolution of sugar is equals to rate of crystallization of sugar at
equilibrium.

In light of the above statements, choose the correcr answer from the options given below

Both Statement I and Statement II are true
Both Statement I and Statement II are false
Statement I 1s true but Statement II 15 false
Statement [ 1s false but Statement II 1s true

|

-

Options :

1908893885. 1
1908893886. 2
1908893887. 3
1908893888. 4

Question Number : 97 Question Id : 190889988 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
1908893885. 1
1908893886. 2
1908893887. 3

1908893888. 4

Question Number : 98 Question Id : 190889989 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following has least conductivity at 298 K7

Glass

Tetlon
Cupric oxide
Pure water

| S

P

Options:

1908893889. 1
1908893890. 2
1908893891. 3

1908893892. 4



Question Number : 98 Question Id : 190889989 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908893889. 1
1908893890. 2
1908893891. 3
1908893892. 4

Question Number : 99 Question Id : 190889990 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
An aqueous solution with 37.92% of weight of Nay$203. what 1s the mole fraction of Nay$:03?

(Total weight of solution = 1250 g)

1. 0.051

2. 0510
3. 0.065
4. 0.65
Options:
1908893893. 1
1908893894. 2
1908893895. 3

1908893896. 4

Question Number : 99 Question Id : 190889990 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
TF FelT 00T 7 Nay$,0; F7137.92% 81 &, o037 7 NayS,0; FT AT I F371 g9

(Frerae #7 F 97 = 1250 )

1. 0.051

[

0.510
3. 0.065
4. 0.65

Options :

1908893893. 1
1908893894. 2
1908893895. 3

1908893896. 4

Question Number : 100 Question Id : 190889991 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The radius of spheres constituting fee, bee. and simple cubic lattice in terms of edge length (a) of
the umt cells, are respectively

0.35a, 0.43a, 0.5a
0.5a. 0.43a, 0.35a
2.8a,2.31a, 2a
23, 2.31a,2.8a

e s D =

Options :

1908893897. 1
1908893898. 2
1908893899. 3

1908893900. 4

Question Number : 100 Question Id : 190889991 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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0.35a.0.43a. 0.5a
0.5a. 0.43a, 0.35a
2.8a,2.31a, 2a
2a,2.313,2.8a

e

Options :

1908893897. 1
1908893898. 2
1908893899. 3
1908893900. 4

Part C Biology

SectionId: 19088932
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 19088958
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 190889992 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



If you suspect major deficiency of antibodies 1n a person. then which of the following would you
look for confirmatory evidence?

Serum albumins
Fibrinogen in plasma
Serum globulins
Tnglycerides

| R

o

Options :

1908893901. 1
1908893902. 2
1908893903. 3

1908893904. 4

Question Number : 101 Question Id : 190889992 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

1908893901. 1
1908893902. 2
1908893903. 3

1908893904. 4

Question Number : 102 Question Id : 190889993 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements

Statement I: The greater is the concentration of water in a system. lower 1s its kinetic energy or
water potential.

Statement II: Pure water will have the lowest water potential.

In light of the above statements. choose the most appropriate answer from the options given
below

Both Statement I and Statement I are correct
Both Statement I and Statement II are mncorrect
Statement I 1s correct but Statement IT 1s incorrect
Statement I 1s incorrect but Statement II 15 correct

R N S

Options:

1908893905. 1
1908893906. 2
1908893907. 3

1908893908. 4

Question Number : 102 Question Id : 190889993 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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1908893905. 1
1908893906. 2
1908893907. 3

1908893908. 4

Question Number : 103 Question Id : 190889994 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements

Statement I: In fermentation, there is a net gain of 12 molecules of ATP for each molecule of
glucose degraded to pyruvic acid whereas only 2 molecules of ATP are generated under aerobic
conditions

Statement II: Fermentation account for only a partial breakdown of glucose whereas i aerobic
respiration it 1s completely degraded to CO; and HyO

In light of the above statements. choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I 1s correct but Statement II 1s incorrect
Statement I 1s incorrect but Statement II 15 correct

e Ll B -

Options :

19088939009. 1
1908893910. 2
1908893911.3

1908893912. 4

Question Number : 103 Question Id : 190889994 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



AT T FuF T aw

FUF - 1. fFvaa # G5 & 70T TFE F TOReE 3 § dgod W ATPF 12
HOLHT 7 IS A BT § Tl AT HGEAT H ATP F 2 A 309+ & ¢

FUF - 11: 9097 & ZaRT oW F1 Faa 70+ @ gar § @ a5y 38
HITAT # =0 f3@Ea o, M H0 F & A §

TYFS A F e F Aoy Seen # ¥ ¥ 3w o

[

. FYT 1HT 1A 7 E

. FUF 1HT 1g&r T £

. FYF 187 ¢ g F9F 1 38T B
. FUF 13707 £ 5 FUF 187§

|

S S

Options :

19088939009. 1
1908893910. 2
1908893911. 3
1908893912. 4

Question Number : 104 Question Id : 190889995 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements

Statement I: The first five reactions of glycolytic pathway convert a molecule of glucose nto 2
molecules of glyceraldehyde-3-phosphate.

Statement IT: The final product of glycolysis 1s pyruvate in aerobic settings and lactate m
anaerobic conditions.

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement IT are correct
Both Statement I and Statement IT are meorrect
Statement I 1s correct but Statement II 1s incorrect
Statement I 15 incorrect but Statement IT 15 correct

e o b

Options :

1908893913. 1
1908893914. 2
1908893915. 3
1908893916. 4

Question Number : 104 Question Id : 190889995 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908893913. 1
1908893914. 2
1908893915. 3
1908893916. 4

Question Number : 105 Question Id : 190889996 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

List I List II

A. Streptococeus L. Diffusion

B. Thiobacillus |II. Nitrogen fixation
C. Porins 1. Denitrification
D. Beijernickia |IV. “Clot buster”

Choose the correct answer from the options given below:

1. A-II.B-1.C-IV.D-1III
2. A-IV.B-IIIL,C-1.D-II
3. A-LB-ILC-TII.D -1V
4 A-IV.B-IIILLC-II.D-I

Options :

1908893917. 1
1908893918. 2
1908893919. 3
1908893920. 4

Question Number : 105 Question Id : 190889996 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908893917. 1
1908893918. 2
1908893919. 3
1908893920. 4

Question Number : 106 Question Id : 190889997 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A section of double stranded DNA 1s composed of 41% adenine bases. What 1s the percentage of
cytosine bases i this section of DNA?

18%
9%
36%

82%

| S

Options :

1908893921. 1
1908893922. 2
1908893923. 3



1908893924. 4

Question Number : 106 Question Id : 190889997 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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18%
9%
36%

82%
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Options:

1908893921. 1
1908893922. 2
1908893923. 3

1908893924. 4

Question Number : 107 Question Id : 190889998 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Exclusively marine. radially symmetrical and diploblastic organism is

Pila

Neries
Pleurobrachia
Asterias

|

oW

Options :

1908893925. 1
1908893926. 2
1908893927. 3

1908893928. 4



Question Number : 107 Question Id : 190889998 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908893925. 1
1908893926. 2
1908893927. 3

1908893928. 4

Question Number : 108 Question Id : 190889999 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An ecosystem which can be easily damaged but can recover if damaging effects stop. will be
having

Low stability and high resilience
High stability and low resilience
High stability and high resilience
Low stability and low resilience

b

e

Options :

19088939209. 1
1908893930. 2
1908893931. 3

1908893932. 4

Question Number : 108 Question Id : 190889999 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
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1908893929. 1
1908893930. 2
1908893931. 3

1908893932. 4

Question Number : 109 Question Id : 1908891000 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Consider the following steps which are involved 1n cloning of foreign into plasnud vector
A Isolation of foreign DNA
B. Restriction digestion of foreign DNA and plasmid vector
C. Ligation of DNA to plasmid
D. Blue white selection
E. Transformation in cloning host
Choose the correct answer from the options given below:
. A>B>C>E=D
A>B>E>C>D

A=C=B=E=D
. A>D>E>B>C

[ e R

Options :

1908893933. 1



1908893934. 2
1908893935. 3

1908893936. 4

Question Number : 109 Question Id : 1908891000 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

1908893933. 1
1908893934. 2
1908893935. 3

1908893936. 4

Question Number : 110 Question Id : 1908891001 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

List I List I

A. Manganese [I. Pollen germination

B. Potassium [II. Chlorosis in older leaves
C. Magnesium |III. Necrosis

D. Boron IV. Photosynthesis

Choose the correct answer from the options given below:

1. A-IV.B-III.C-I.D-1I

2. A-ILB-LC-IV.D-1III

3. A-ILB-II.C-IV.D-1I

4, A-IV.B-III.C-II.D-I
Options :

1908893937. 1
1908893938. 2
1908893939. 3
1908893940. 4

Question Number : 110 Question Id : 1908891001 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908893937. 1
1908893938. 2
1908893939. 3
1908893940. 4

Question Number : 111 Question Id : 1908891002 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Grven below are two statements

Statement I: All organisms, from prokaryotes to the most complex eukaryotes can sense to
environmental cues.

Statement IT: Order and other higher taxonomic categories are not identified based on the
aggregates of characters. It 15 the assemblage of genes which exlubit few similar characters.

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement IT are incorrect
Statement I 15 correct but Statement II 15 incorrect
Statement I 1s incorrect but Statement II 1s correct

L R
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Options :

1908893941. 1
1908893942. 2
1908893943. 3

1908893944. 4

Question Number : 111 Question Id : 1908891002 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908893941. 1
1908893942. 2
1908893943. 3

1908893944. 4

Question Number : 112 Question Id : 1908891003 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Genes involved 1n turning on (or) off the transeription of a set of structural genes are called

1. Operator genes

2. Polymorphic genes
3. Redundant genes
4. Regulatory genes

Options :

1908893945. 1

1908893946. 2

1908893947. 3

1908893948. 4



Question Number : 112 Question Id : 1908891003 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908893945. 1
1908893946. 2
1908893947. 3

1908893948. 4

Question Number : 113 Question Id : 1908891004 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Allopatric speciation

A. New species evolve when one (or) more population of a species becomes separated from the
other population of the species due to geographical barrier,

B. Small groups of individuals break off from the larger group and form a new species

C. Over the time, cessation of the gene flow between geographically 1solated population leads to
the reproductive isolation

D. The initial stage of allopatric speciation 1s polymorphism that does not depend on space
within a population

E. As a result of natural selection, geographically separate population become adapted to local
conditions and thus they are genetically differentiated

Choose the correet answer from the options given below:
1. A&E only
2. AE&Conly
3. AB&Donly
4. A.B.C &E only

Options :

1908893949. 1
1908893950. 2
1908893951. 3
1908893952. 4

Question Number : 113 Question Id : 1908891004 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908893949. 1
1908893950. 2
1908893951. 3

1908893952. 4

Question Number : 114 Question Id : 1908891005 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



In organ transplantations, cyclosporine A 1s used as an immune-suppressive agent which is
produced by

1. Saccharomyces cerevisiae
2. Trichoderma polysporum
3. Monascus purpureus
4. Aspergillus niger
Options :
1908893953. 1
1908893954. 2
1908893955. 3

1908893956. 4

Question Number : 114 Question Id : 1908891005 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908893953. 1
1908893954. 2
1908893955. 3

1908893956. 4

Question Number : 115 Question Id : 1908891006 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following combination 1s related to ‘potential energy’
A. Matter has a natural tendency to move to the lowest possible state
B. A book on a table before it falls

C. A child on the floor

D. Water in a reservoir on a lnll

E. A car that is parked

Choose the correct answer from the options given below:

1. B.D & E only
2. B.C.D &E only
3. AB&Donly
4, A.B.C & E only

Options :

1908893957. 1
1908893958. 2
1908893959. 3

1908893960. 4

Question Number : 115 Question Id : 1908891006 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908893957. 1
1908893958. 2
1908893959. 3

1908893960. 4

Question Number : 116 Question Id : 1908891007 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

List I List IT

A. Chitin I. Polymer of fructose
B. Lecithin  [IL. Protein

C. Collagen [III. Polysaccharide
D. Inulin IV. Phospholipid

Choose the correct answer from the options given below:

A-IIILB-II.LC-L.D-IV
A-TMB-IL.C-II.D-1IV
A-IV.B-III.C-1.D-1I
A-IIILB-IV.C-II.D-1

b

o

Options:

1908893961. 1
1908893962. 2
1908893963. 3
1908893964. 4

Question Number : 116 Question Id : 1908891007 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908893961. 1
1908893962. 2
1908893963. 3

1908893964. 4

Question Number : 117 Question Id : 1908891008 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements

Statement I: In Pheretima. the body 1s comprised of three prominent regions- preclitellar.
clitellar and postelitellar segments.

Statement II: Each distinct region of the Pheretima body 1s covered by brown exoskeleton with
ventral sternites and dorsal tergites.

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are mcorrect
Statement I 1s correct but Statement IT 1s incorrect
Statement I 1s incorrect but Statement IT 15 correct

|
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Options:

1908893965. 1
1908893966. 2
1908893967. 3
1908893968. 4

Question Number : 117 Question Id : 1908891008 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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F - 1. BRfeAr &1 oK 97 7T aE & 727 2T ¢ - FAscon . FAseon
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FUA - 1 BRIEAT F o7 7 94% & a0 oY T F a7 F5d § H°R/
FEIASE FUT JEEIT TMEE e &
IF FUA F F6S § FEAEs Feed # F 5 3w 9
| FU 13T 03 T 8
2. FYF 1HR 034 7o £
3. FUA 187 2. e FU7 1 HEA
4. FUT 1¥TT ¢ e FI9 LT ¢

Options :

1908893965. 1



1908893966. 2
1908893967. 3

1908893968. 4

Question Number : 118 Question Id : 1908891009 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which one of the following 1s a wrong statement?

1. Particulate matter of the size 2.5 um (or) less can cause inflammation and damage to the
lungs

2. A lake which 1s rich 1 organic waste may result in the mortality of fishes due to lack of
OXygen

3. DDT residues are rapidly passed through food chamn because it 1s water soluble
4. Photochemical smog pollution contain ozone

Options:

19088939609. 1
1908893970. 2
1908893971. 3
1908893972. 4

Question Number : 118 Question Id : 1908891009 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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gl
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Options :

19088939609. 1
1908893970. 2
1908893971.3
1908893972. 4

Question Number : 119 Question Id : 1908891010 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Consider the following main reactions in tricarboxylic acid cyele and arrange in order
A. Condensation
B. Dehydrogenation
C. Isomerization
D. Oxidative decarboxylation
E. Substrate level phosphorylation

Choose the correct answer from the options given below:

A>C>D>E>B
A>B>C>D>E
C=A>B=E=D
A>D>E>C>B

| i

N

Options :

1908893973. 1
1908893974. 2
1908893975. 3
1908893976. 4

Question Number : 119 Question Id : 1908891010 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908893973. 1
1908893974. 2
1908893975. 3

1908893976. 4

Question Number : 120 Question Id : 1908891011 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following first terrestrial plants possess xylem and phloem and have sporophyte as
a main plant body?

Selaginella
Sphagnum
Pinus

o N e

Eucalyptus

Options :

1908893977. 1



1908893978. 2
1908893979. 3

1908893980. 4

Question Number : 120 Question Id : 1908891011 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

1908893977. 1
1908893978. 2
1908893979. 3

1908893980. 4

Question Number : 121 Question Id : 1908891012 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

What would happen. if. in a gene encoding a polypeptide of 50 amino acids. 25" codon UAU is
mutated to UAA?

1. Two polypeptides of 24 and 25 amino acids will be formed

A polypeptide of 25 amino acids will be formed

LEC T ]

A polypeptide of 49 amino acids will be formed

s

A polypeptide of 24 amino acids will be formed

Options :
1908893981. 1
1908893982. 2



1908893983. 3

1908893984. 4

Question Number : 121 Question Id : 1908891012 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
I TF 50 3HET TFUE F7 TANREE FF T 9 A F 253 FEE (UAU)
TANEad F I UAA ¥ Sdad 9T 47 300 7
1. 2439 25 3HET 37 F I ToraeerEs 349
2. UF 25 A& 37 FT TollUeerss qe|
3. U 40 FAET HFd FT TeUSEE Tl
4, % 24 FAA FFA FT TNTCEE T4

Options :

1908893981. 1
1908893982. 2
1908893983. 3

1908893984. 4

Question Number : 122 Question Id : 1908891013 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Characteristic features of living organisms

A. Growth 15 the defining property

B. Metabolism 1s the defining feature

C. Reproduction 1s an inclusive defining characteristic

D. Consciousness 15 the defining property

E. All living organisms are linked to one another by sharing common genetic material

Choose the correct answer from the options given below:

1. A.B&E only

2. B.D & E only

3. C.D & E only

4. A& Conly
Options :

1908893985. 1
1908893986. 2
1908893987. 3
1908893988. 4

Question Number : 122 Question Id : 1908891013 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908893985. 1
1908893986. 2
1908893987. 3
1908893988. 4

Question Number : 123 Question Id : 1908891014 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Allergy 15 an exaggerated immune response towards antigens present in the environment. Which
of the following antibodies are produced in response to these substances?

IgE
IgA
IgM
IeG

e T b

Options :

1908893989. 1
1908893990. 2
1908893991. 3



1908893992. 4

Question Number : 123 Question Id : 1908891014 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AR H F9RUT Herorel! deal & e Fawem B Seqeiaor Fganar g1 3 dear

g fawa gfee 71 3o e e £
1. IgE
2. IgA
3. IeM
4. IsG
Options :

1908893989. 1
1908893990. 2
1908893991. 3
1908893992. 4

Question Number : 124 Question Id : 1908891015 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Even harmful mutations do not get eliminated from the gene pool due to

1. Genetic drift

2. Higher frequency due to dominant nature

Being recessive and persisting m heterozygous condition
4. Survival value

La

Options :

1908893993. 1
1908893994. 2
1908893995. 3

1908893996. 4



Question Number : 124 Question Id : 1908891015 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908893993. 1
1908893994. 2
1908893995. 3

1908893996. 4

Question Number : 125 Question Id : 1908891016 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a linear chromosome map distances between four loci are —a and b =20 mu: a and d = 6 mu:
b and ¢= 8 mu: a and ¢ = 12 mu. What will be the crossover frequency between ¢ and d?

. 12%

2. 20%

3. 3%

4. 6%
Options:
1908893997. 1
1908893998. 2
1908893999. 3

1908894000. 4

Question Number : 125 Question Id : 1908891016 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

U W@ AT # AR FEyEr 7 AERET 9 59 995N ¢

addTb=20mu: adAM d=6mu: bdWMc=8mu:adATc=12 mu

¢ T d % 7w Ffagwa 3mgfea #ar gefr 2

1. 12%
2. 20%
3. 3%
4. 6%
Options:

1908893997. 1
1908893998. 2
1908893999. 3
1908894000. 4

Question Number : 126 Question Id : 1908891017 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements

Statement I: In sympatric speciation. gene flow 1s reduced by polyploidy, sexual selection and
habitat differentiation.

Statement II: Hybrid zones, which produce offspring of mixed ancestry, are the predicted
outcome when species with incomplete reproductive barrier come into contact with one another.

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement IT are mncorrect
Statement I 1s correct but Statement II 1s incorrect
Statement I 1s incorrect but Statement I 1s correct

| e

e b

Options:



1908894001. 1
1908894002. 2
1908894003. 3

1908894004. 4

Question Number : 126 Question Id : 1908891017 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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3. FUF 19T 8. g FUa 130T 2
4. FYF 1307 L. F9a 177 £

Options:

1908894001. 1
1908894002. 2
1908894003. 3

1908894004. 4

Question Number : 127 Question Id : 1908891018 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following DNA 15 used by Agrobacterium tumefaciens to transform normal cells
mto a tumor?

B-DNA
Z-DNA
T-DNA
A-DNA

N S

Options :

1908894005. 1
1908894006. 2
1908894007. 3

1908894008. 4

Question Number : 127 Question Id : 1908891018 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

7 & ¥ 9 T DNA WRIFINGH ZABAIY S8 TAET FI F T
A g

B-DNA
Z-DNA
T-DNA
A-DNA

e L b e

Options :

1908894005. 1
1908894006. 2
1908894007. 3

1908894008. 4

Question Number : 128 Question Id : 1908891019 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements

Statement I: Rapid spasms (wild contractions) in muscles due to Ca™ in body fluid 1s called
gout disease.

Statement IT: Muscular dystrophy 1s an auto-immune disorder affecting neuromuscular junction
leading to fatigue, weakening and paralysis of skeletal muscles.

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement IT are correct
Both Statement I and Statement II are incorrect
Statement I 1s correct but Statement IT 1s incorrect
Statement I 1s incorrect but Statement II 1s correct

J L b2 =

Options :

19088940009. 1
1908894010. 2
1908894011. 3

1908894012. 4

Question Number : 128 Question Id : 1908891019 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

19088940009. 1
1908894010. 2
1908894011. 3

1908894012. 4

Question Number : 129 Question Id : 1908891020 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following display female heterogamety?

1. Drosophila melanogaster

[ o]

Apis mellifera

L]

Gallus gallus domesticus

-

Periplaneta Americana

Options :
1908894013. 1
1908894014. 2

1908894015. 3



1908894016. 4

Question Number : 129 Question Id : 1908891020 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908894013. 1
1908894014. 2
1908894015. 3
1908894016. 4

Question Number : 130 Question Id : 1908891021 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following event occurs in acrobic respiration?

ATP  ADP

A Glucose g Glueose-6-phosphate —— 3-phosphoglycene seid —3 Phosphoenol pyruvate —— Pymuvie seid

o
d

B g g :
Pyruvie acid + COA - NAD™ > Acetyl COA+~CO,~NADH - H”
Pyruvate dehydrogenase

NAD" NADH-H-

C Glucose —» Glyceraldelyde-3-phosphate % Phosphoenol pyrwie acid —————> Pymuvic acid
D Pyruvic acid + 4NAD™ = FAD" + 2H,0 + ADP+Pi > 3CO,+ 4NADH = 4H- + FADH, + ATP

Mitochondrial Matrix
. Pyruvic acid - COA + NAD" > Acetyl COA+CO,+NADH +H-

Choose the correct answer from the options given below:

1. B.D&Eonly
2. B.C&Donly
3. B&Donly
4. B&Eonly

Options :

1908894017. 1

1908894018. 2

1908894019. 3

1908894020. 4

Question Number : 130 Question Id : 1908891021 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908894017. 1
1908894018. 2
1908894019. 3
1908894020. 4

Question Number : 131 Question Id : 1908891022 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Consider the following statements with respect to food chain.

A. Removal of 80% tigers from an area resulted 1n increased growth of vegetation.

B. Removal of most of the carnivores resulted in an inereased population of deers.

C. The length of food chain 1s generally limited to 3-4 trophic levels due to energy loss.
D. The length of food chains may vary from 2-8 trophic levels.

Choose the correct answer from the options given below:
L ABD

2. AB

3. B;E

4 €D
Options :
1908894021. 1
1908894022. 2
1908894023. 3

1908894024. 4

Question Number : 131 Question Id : 1908891022 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908894021. 1
1908894022. 2
1908894023. 3
1908894024. 4

Question Number : 132 Question Id : 1908891023 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: Use of readymade antibodies to protect the body against foreign agents 1s principal
characteristics of passive immunity.

Statement II: Abundant IgA antibodies in colostrum protect the infant’s body through active
MLy,

In light of the above statements. choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I 1s correct but Statement IT 1s mcorrect
Statement I 1s incorrect but Statement II 1s correct

I N N o R

Options :

1908894025. 1
1908894026. 2
1908894027. 3

1908894028. 4

Question Number : 132 Question Id : 1908891023 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



AT FUA RU AT E

FUF - [ T5d ¥ 94 ot F g3 ¥ olR F a7 oot ¢ 6 e Ay
STORET FT TT T £

FIF - [ FARA (T2 F Fo/ & 9991 AT F T4 § TS §e0) # 39809
yferedr 5 oA i 9ioweT # gees &

IYFT FUA F Ao & Aefoes oRed # ¥ W 3o 9

. FYF 1A N gA Ta

. B [AT 134T g

. FUF 15T ¢ e FU 130T 2
. T 130T 8. g F0F 18T 7

L] [ [—

=

Options :

1908894025. 1
1908894026. 2
1908894027. 3

1908894028. 4

Question Number : 133 Question Id : 1908891024 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What percentage of photosynthetically active radiation is captured by plants?

1. 2-10%
2. 50%
100%

1-2%

il o

Options:

1908894029. 1
1908894030. 2
1908894031. 3

1908894032. 4



Question Number : 133 Question Id : 1908891024 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TeRTel remuity Tk fafertor &7 e amer St gamr agor frar ST

1. 2-10%
2. 50%
3. 100%
4. 1-2%
Options :

1908894029. 1
1908894030. 2
1908894031. 3
1908894032. 4

Question Number : 134 Question Id : 1908891025 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s wrong with respect to *biomolecules™

A, Cellulose and starch can hold I due to formation of helical secondary structures

B. Proteins transport nutrient across cell membrane and fight mfectious organisms

C. At high temperature enzymes get damaged while inorganic catalysts work efficiently

D. In animal tissue, different drugs. pigments, essential o1l, magnesum, O compounds are
noticed

E. DNA and RNA have three chemically distinet components - heterocyclic, monosaccharaides
and phosphate

Choose the correet answer from the options given below:

1. D&E only
2. A&Donly
3. A B&Donly
4. B.E&Conly

Options :
1908894033. 1
1908894034. 2



1908894035. 3
1908894036. 4

Question Number : 134 Question Id : 1908891025 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908894033. 1
1908894034. 2
1908894035. 3

1908894036. 4

Question Number : 135 Question Id : 1908891026 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



To withstand the extreme dehydration many vertebrates enter a state known as anhydrobiosis,
Which of the following compatible osmolytes accumulate to relatively high levels and protect
the organisms against desiccation damage?

Ketoses

Trehalose
Raffinose
Stachyose

|

PR

Options :

1908894037. 1
1908894038. 2
1908894039. 3

1908894040. 4

Question Number : 135 Question Id : 1908891026 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

1908894037. 1
1908894038. 2
1908894039. 3
1908894040. 4

Question Number : 136 Question Id : 1908891027 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

List I List IT
A Nitrification 1. Azotobacter
B. Denmitrification I1. Nitrotobacter

C. Free living nitrogen fixation |III. Rhizobium

D. Symbiotic nitrogen fixation [IV. Pseudomonas

Choose the correct answer from the options given below:

1. A-IMI.B-IV.C-II.D-1I
2. A-ILB-I,C-IV,D-1III
3. A-IIL.B-IV.C-L.D-III
4, A-IV.B-II.C-III.D-I

Options :

1908894041. 1
1908894042. 2
1908894043. 3

1908894044. 4

Question Number : 136 Question Id : 1908891027 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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2 A-IB-1.C-IV D-M
3 A-ILB-W.C-1.D-M
4, AsIV. BeIL C<I D=1
Options :

1908894041. 1
1908894042. 2
1908894043. 3

1908894044. 4

Question Number : 137 Question Id : 1908891028 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a particular chromosome. the recombination frequency between genesa & c1s 5%: b & ¢ 1s
15%: b & d1s9%: a & b1s 20%: ¢ & d is 24% and a & d 15 29%. The sequence of genes in
chromosome 1

a.d.b.c
d.b.ac
a.b.c.d

a.c.b.d

e o B2 —

Options :
1908894045. 1
1908894046. 2

1908894047. 3



1908894048. 4

Question Number : 137 Question Id : 1908891028 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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d.b.ac

a.b.c.d
a.c.bd

b

s

Options :

1908894045. 1
1908894046. 2
1908894047. 3
1908894048. 4

Question Number : 138 Question Id : 1908891029 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following is the sequence of mRNA transcribed from the below DNA?

3' - ATCCCAGGTACCAT - ¥

Laa

'~ UAGGGUCCAUGGUA - ¥’
5" - UAGGGUCCAUGGUA - ¥’
'~ TAGGGTCCATGGTA - §°
5" - TAGGGTCCATGGTA - ¥

e
A e LN

Options :
1908894049. 1

1908894050. 2



1908894051. 3
1908894052. 4

Question Number : 138 Question Id : 1908891029 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
75 DNA ¥ Helolf@d mRNA HToll FT T FY

3= ATCCOCAGGTACCAT — 5

1. 3'-UAGGGUCCAUGGUA - §°

2. 5 -UAGGGUCCAUGGUA - 3

3. 3’ =TAGGGTCCATGGTA — ¥

4. 5" —-TAGGGTCCATGGTA - 3°
Options :

1908894049. 1
1908894050. 2
1908894051. 3

1908894052. 4

Question Number : 139 Question Id : 1908891030 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

What will happen to the population of two forms of Biston betularia (peppered moth) mhabiting
the region polluted due to emission of soot from industries?

A. Population of dark colored moth will increase

B. Population of both the forms will decrease

C. Population of light colored moth will increase

D. Population of dark colored moth will increase while population of light colored moth will
decrease

E. Population of both the forms will ncrease

Choose the correct answer from the options given below:

. A&Donly
C.D & E only
C&D only
. B.C&Donly

b —

ot



Options :

1908894053. 1
1908894054. 2
1908894055. 3
1908894056. 4

Question Number : 139 Question Id : 1908891030 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

farea fagefan (90 #1) & @ 991 W AR TgE0T g F FIT TG G50

A TEY T F AT FTOFEIT e
B. 2 HRT & AT $r FEIm g

C.Zo% T F A1y § gEar geam

D. 7g{ T F AT T FEIG T¢I T ook 1 HI Tea
E. 2 Y91 & AT $T gE g
A T 7T Reedt & ¥ w9 3o 9

. I AFTD
. %90 C.DHRE
3. A CHAND
. 9 B.CHAR D

| ]

o

Options :

1908894053. 1
1908894054. 2
1908894055. 3

1908894056. 4



Question Number : 140 Question Id : 1908891031 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Competition for light. nutrients and space is most severe between

1. Closely related organisms growing in the same niche

2. Closely related organisms growing in the different niche
Distantly related organisms growing in the same habitat
Distantly related organisms growing in the different niches

e

Options :

1908894057. 1
1908894058. 2
1908894059. 3

1908894060. 4

Question Number : 140 Question Id : 1908891031 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
THIN TOF decal AT T F O Gaw EF vy 5 & 7eg g

. TF T ¥ §afoT &9 0% & ¥ A
2. UF T ¥ gatuq die fafde smemar &
3. U% Y ¥ wHET 9 oF & e A
4. % gEY ¥ HEEMUT e fafdes smardt #

Options :

1908894057. 1
1908894058. 2
1908894059. 3

1908894060. 4

Question Number : 141 Question Id : 1908891032 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I; In photosynthesis, the membrane system 1s responsible for the synthesis of ATP
and NADH 1n carbon reaction.

Statement II: In photosynthesis. enzymatic reactions synthesize sugar and which in turn form
starch. These reactions are driven by light.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II 1s incorrect
4. Statement I 1s incorrect but Statement IT 15 correct
Options :
1908894061. 1
1908894062. 2
1908894063. 3

1908894064. 4

Question Number : 141 Question Id : 1908891032 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A FUT rav d
FIA - 1 THIT TSV Faef 5 # Freal 77 ATP, NADPH F ToW0T # Tgrdh
¢l

FYT - 11 THIYT T & TAZH RRaT 9T T Feow0T 3t 21 e =i aaan
g U 77 O gy ¥ HY 5 W ey

sl F & WA # Reared e § ¥ T R o
I FUF AR n3E T 8
2. FYF 13X 1gH 700 £
3. FUF 18T ¢, e 97 13T €
4. FUF 130A ¢ =g 97 0187 £

Options :

1908894061. 1



1908894062. 2
1908894063. 3

1908894064. 4

Question Number : 142 Question Id : 1908891033 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

While studying the population of rat i a warchouse. you found that average natality was 250.
average mortality was 240, immigration was 20 and emigration was 30. What will be the net
increase in rat population?

I
2. Zero
3. 10
4 5
Options:
1908894065. 1
1908894066. 2
1908894067. 3

1908894068. 4

Question Number : 142 Question Id : 1908891033 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

forelr aMemA # @t F T 7 AT T T HET A G 250, 39T A K
240, FTAS 20 7T TARF 30 7| 3F HAIA H A G A FA Fdr 2 IS

ol

o e N e B
—
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Options :

1908894065. 1



1908894066. 2
1908894067. 3

1908894068. 4

Question Number : 143 Question Id : 1908891034 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Genetic drift operates in

1. Small 1solated population
2. Fast reproductive population
3. Large 1solated population
4. Slow reproductive population
Options:
1908894069. 1
1908894070. 2
1908894071. 3

1908894072. 4

Question Number : 143 Question Id : 1908891034 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

HgE foTes e W F = €

i

. O JUFT FATHE

[ ]

. O T 9o il Ja9EaT H

L%

. T8 UFT TAHE
4. Y 994 T FIEEAT H
Options :
19088940609. 1
1908894070. 2

1908894071. 3



1908894072. 4

Question Number : 144 Question Id : 1908891035 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Vernalisation

A. Enables the plant to have sufficient time to reach maturity

B. Depends not only on a combination of light but also their relative duration

C. Prevents precocious reproductive development late in the growing season

D. Refers specially to the promotion of flowering by a period of low temperature
E. Phenomenon occurs by changing light and temperature

Choose the correct answer from the options given below:

A.C&Eonly
A C.D&E only
A.B.C&D only
A.C&Donly

[

e o

Options:

1908894073. 1
1908894074. 2
1908894075. 3
1908894076. 4

Question Number : 144 Question Id : 1908891035 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



FEAHIOT

A 9e9T # TFET g F7 93~F §8T &1 &

B. FI THIT F T died FHATS 97 ofr T &1

C. it Fr G F 999 F GHT IS99 [FRE F AT F

D. 9w &9 ¥ fe= AR garT 94 fRar 1 e g

E. UCAThH T JAT d9AA d6old o @FIT gl
A for ar RAeedi# ¥ ®Er 3ea7 I

. Fao A.CHIT E
2. FFT A.C.DIT E
. FFd AB.CHT D
4, T A.CHR D
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Options :

1908894073. 1
1908894074. 2
1908894075. 3

1908894076. 4

Question Number : 145 Question Id : 1908891036 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

At a particular locus, frequency of “A” allele 1s 0.6 and that of “a” 15 0.4. What would be the
frequency of heterozygotes in a random mating population at equilibrium?

0.36
0.16
0.24
0.48

b

. b

Options :

1908894077. 1



1908894078. 2
1908894079. 3

1908894080. 4

Question Number : 145 Question Id : 1908891036 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T W T T Talie " $ 3gfed 0.68 F97 Taled " &7 313fed 04 81 oy
TAREA F W # & T 1 T Fal Jaaed # Fengenst # 3qfed
T 0

0.36
0.16
0.24
0.48

e

e b

Options:

1908894077. 1
1908894078. 2
1908894079. 3

1908894080. 4

Question Number : 146 Question Id : 1908891037 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

ListI List IT
A, Bilaterally symmetrical. triploblastic. acoclomate animal with flame |
cells 1. Limulus

B. Bilaterally symmetrical animal with calcareous shell and mantle cavity [II. Pleurobrachia

C. Radally symmetrical animal with ciliated comb plates and exclusively [III. Fasciola
marine hepatica

D. Bilaterally symmetrical. triploblastic. coelomate animals with chitinous

IV. Dentalium
exoskeleton

Choose the correct answer from the options given below:

1. A-ILB-IV.C-IIL.D-II
2. A-IV.B-IL.C-TIL.D-I
3. A-IILB-IV.C-II.D-I
4 A-NLB-IV.C-LD-II

Options :

1908894081. 1
1908894082. 2
1908894083. 3

1908894084. 4

Question Number : 146 Question Id : 1908891037 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



T A g -1 v gafes fifee

T I T -1
A, Zfaured FHEAT. B, eyEs ol Fa

B - 1 foree
B. ZAdTed FHAT. IO, FoHRaT FI7 T ot
HEH T *

C.TH TAMRTY WO, TeAtET S g9 AT (I st
GEIRERIEE i PCll fEafesr

D. Zfaed TRt freati, T Siof o

5 . IV. SeTorgA
PISICAH dEd hehlel a5
e for v fFFedt # @ w8 3o AT

l. A-ILB-IV.C-TILD-II

2. A-IV.B-ILC-ILD-I

3. A-ILB-IV.C-ILD-I

4. A-ILB-IV.C-LD-II

Options :

1908894081. 1
1908894082. 2
1908894083. 3

1908894084. 4

Question Number : 147 Question Id : 1908891038 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The eye of octopus and eye of dog show different structural patterns, yet they perform similar
functions. This 15 an example of

Analogous organs that have evolved due to divergent evolution
Homologous organs that have evolved due to convergent evolution
Homologous organs that have evolved due to adaptive radiation
Analogous organs that have evolved due to convergent evolution

|

-



Options :

1908894085. 1
1908894086. 2
1908894087. 3
1908894088. 4

Question Number : 147 Question Id : 1908891038 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908894085. 1
1908894086. 2
1908894087. 3
1908894088. 4

Question Number : 148 Question Id : 1908891039 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements
Statement I: On the basis of their chemical nature, hormones can be divided into group.

1. Peptide. Polypeptide. protein hormones
. Steroids
1. Iodothyromines
v.  Amino acid dervates

Statement II: Underproduction of hormones by adrenal cortex alters carbohydrate metabolism
causing acute weakness and fatigue leading to disease called diabetes mellitus.

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are mncorrect
Statement I 1s correct but Statement II 1s incorrect
Statement I 1s incorrect but Statement II 1s correct

el bl

s

Options :

19088940809. 1
1908894090. 2
1908894091. 3

1908894092. 4

Question Number : 148 Question Id : 1908891039 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



AT FIF BT AT
FUS - 1: TWHEH T F X T @A F e 7 F i a1 1 T
¥
i, JTETEE. TTeieeres. e FAta
ii. TR
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Options :

19088940809. 1
1908894090. 2
1908894091. 3

1908894092. 4

Question Number : 149 Question Id : 1908891040 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Steps involved in catalytic cycle of enzyme action

A. Release of products of the reaction

B. Binding of substrate to the active site of enzyme
C. Formation of enzyme substrate complex

D. Alteration in the shape of enzyme

E. Enzyme free to bind another molecule of substrate

Choose the correct answer from the options given below:
1. B=C=D=AE
2. B=D>C>A>E

B>D>A>E>C

B=E=D>(C=A

o R

Options :

1908894093. 1
1908894094. 2
1908894095. 3

1908894096. 4

Question Number : 149 Question Id : 1908891040 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



grrg i RO Fsawm oA A g 9 & 2

A. FIT # 309 FT 9940

B. 9fhvg & GfFT TIE 9T FaHeE FT FATIH

C.9f0T - FaFT FHE FT aaT

D. 9fFog # AFA & T

E. 9fhvd HIRH F 37 HU[ § 99 g F&d-7 & a1 ¢

A T 717 Teedt # ¥ HEr 3o} 94 ¢

1. B=C=D>A>E

2. B>D>C>A>E

3. B>D=A=E>C

4. B=E=D=C=A
Options :

1908894093. 1
1908894094. 2
1908894095. 3

1908894096. 4

Question Number : 150 Question Id : 1908891041 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which one of the following combination 1s correct in relation to ‘natural selection’?

A. Individuals with mnherited traits that are best suited to the local environment

B. Over many generations, a higher proportion of individuals in a population will have the
advantageous traits

C. Individuals in a population vary in their traits

D. Competition 1s inevitable

E. Evolution occurs as the unequal reproductive success of individuals adapt the population to its
environment

Choose the correct answer from the options given below:

. B. |
2. AB.C&Donly

3. C.D&E only
4. AB.C.D&Eonly

Options :

1908894097. 1
1908894098. 2
1908894099. 3

1908894100. 4

Question Number : 150 Question Id : 1908891041 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



ST T % w A e E
A SiE & 0T F T S wEeE O i Femy A g

B. ¥ HATadl F SHIA JTAREA & &8 A & el # oierds 07 39 &
C.FAHEI # 519 0l T # {3 07 4RO T 7 €
D. TE¥ HIaTHTET

E, T8 & T Sl $ FTH Foredel FHed] SAuedn F TR0 F Hehes
AT+ £

A R e Ret # ¥ R

. $3 B.CHR D
2. %I AB.CHRD
3. %34 C.DHTE
4. A,B.C.DHR E
Options :
1908894097. 1
1908894098. 2
1908894099. 3

1908894100. 4



